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�О�!�!&��� ��!� О�О��О�О ��&� $��!� 

�одE8Eте<4 5еEпDо6од=о7о 8=теDDе9E4 (д4лее ���) пDед=47=4Gе=4 длO 46то<4т874F88 D45отK 
л45оD4тоD88 ко=тDолO к4GеEт64 =еDтепDодукто6. 
��� Dе4л87ует EледуNI8е Dу=кF88: 
 46то<4т8GеEк4O пеDед4G4 =4 �К Dе7улLт4то6 8EпKт4=89 E 4пп4D4то6, =4EодOI8EEO 6 

л45оD4тоD88 по 5еEпDо6од=о<у к4=4лу E6O78 (Eт4=д4Dт IEEE 802.15.4/ZigBee); 
 =4дU6=ое ED4=е=8е полуGе==о9 от 4пп4D4то6 8=DоD<4F88 6 ед8=о9 547е д4==KE; 
 удо5=ое, Eт4=д4Dт87о64==ое пDедEт46ле=8е 8=DоD<4F88 полL7о64телN (6 т45л8G=о<, 

7D4D8GеEко<, пеG4т=о< 68де); 
 пDедоEт46ле=8е EDедEт6 длO MDDект86=о9 D45отK E Dе7улLт4т4<8 8EпKт4=89, EDедEт6 длO 

D4EGUт4 тоG=оEт=KE E4D4ктеD8Eт8к по Eт4=д4Dт=K< <етод4<. 
��� о5еEпеG864ет E6O7L =4 D4EEтоO=88 до 100 < 6 по<еIе=88, 6Eе 4пп4D4тK ЛинтеЛ® <о7ут 5KтL 
о5Jед8=е=K 6 ед8=уN EетL. 

�пп4D4тK ЛинтеЛ® оE=4Iе=K пDо7D4<<=о-4пп4D4т=K<8 EDедEт64<8, о5еEпеG864NI8<8 D45оту 
4пп4D4т4 E ���1. 

 
�лO D45отK E8Eте<K =ео5Eод8<о пD8о5DеEт8 8 уEт4=о68тL D4д8о<оде< E USB 8=теDDе9Eо< 8 
пDо7D4<<=ое о5еEпеGе=8е длO пеDEо=4лL=о7о ко<пLNтеD4. �Dо7D4<<=ое о5еEпеGе=8е 6клNG4ет 
6 Eе5O дD496еD D4д8о<оде<4 8 пDо7D4<<у ЛинтеЛ®-Л��К. 
 е7улLт4тK 8EпKт4=89 46то<4т8GеEк8 пеDед4NтEO 6 547у д4==KE, Gто упDоI4ет доEтуп к д4==K< 8 
7D4D8к4<, по76олOет по6KE8тL к4GеEт6о D45отK, 4 т4к6е 87546лOет от 5олLH8=Eт64 Dут8==KE 
опеD4F89. 

                                                      
1 �4 допол=8телL=о9 8=DоD<4F8е9 о5D4I49теEL по тел. (347) 284-44-36, 284-27-47. 



�О �!К� «�еDтеE8<46то<4т8к4» 

!о6Dе<е==Kе 4пп4D4тK длO ко=тDолO к4GеEт64 =еDтепDодукто6 

�л47од4D8< �4E 74 пD8о5Dете=8е 8 8EполL7о64=8е ЛинтеЛ® � �!-21 – 4пп4D4т4 л45оD4тоD=о7о 
46то<4т8GеEко7о длO опDеделе=8O DD4кF8о==о7о EоEт464 =еDт8 8 E6етлKE =еDтепDодукто6. 

�О �!К� «�еDтеE8<46то<4т8к4» E 1959 7. пDо876од8т 8 поEт46лOет 4пп4D4тK длO ко=тDолO 
к4GеEт64 =еDтепDодукто6 6 л45оD4тоD88 746одо6, 4MDопоDто6, пDедпD8Oт89 топл86=о-

M=еD7ет8GеEко7о ко<плекE4. 
�4H8 4пп4D4тK Dе4л87уNт !&���� &�Ы� ��&О�Ы, пDоHл8 <етDоло78GеEкуN 4ттеEт4F8N, 
6клNGе=K 6 �� 2418-97 «Кл4EE8D8к4F8O 8 пD8<е=е=8е теE=8GеEк8E EDедEт6 8EпKт4=89 
=еDтепDодукто6» 8 Eоот6етEт6уNI8е �О!&K к4к EDедEт64 Dе4л874F88 <етодо6 ко=тDолO к4GеEт64. 
� 4пп4D4т4E пDедуE<отDе=K EпеF84лL=Kе DеHе=8O, по76олONI8е Dе4л87о6K64тL кDо<е 
Eт4=д4Dт=KE <етодо6 8 <етодK длO 6Kпол=е=8O 8EEледо64=89, Gто оEо5е==о 646=о пD8 
D47D45отке =о6KE 68до6 пDодукF88. �О �!К� «�еDтеE8<46то<4т8к4» пD8<е=Oет =о6е9H8е 
теE=оло788 8 ко<по=е=тK длO о5еEпеGе=8O Eт458лL=о 6KEоко7о к4GеEт64 4пп4D4то6, удо5Eт64 8E 
MкEплу4т4F88, E FелLN EокD4Iе=8O 74тD4т 6Dе<е=8 =4 8EпKт4=8O 8 по6KHе=8O MDDект86=оEт8 
�4Hе9 D45отK. 
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 уко6одEт6о по MкEплу4т4F88 EодеD68т E6еде=8O о ко=EтDукF88, пD8=F8пе де9Eт68O, E4D4ктеD8-
Eт8к4E 4пп4D4т4 46то<4т8GеEко7о ЛинтеЛ® � �!-21 8 ук474=8O, =ео5Eод8<Kе длO е7о пD468лL=о9 
8 5е7оп4E=о9 MкEплу4т4F88. 

1 !��!ОК � ��/&/% !ОК �)���� 

�пп4D4т – 4пп4D4т 46то<4т8GеEк89 ЛинтеЛ® � �!-21. 

�К – пеDEо=4лL=K9 ко<пLNтеD. 
��� – подE8Eте<4 5еEпDо6од=о7о 8=теDDе9E4. 
�� – 6KклNG4телL 46то<4т8GеEк89. 

 

2 О��!���� �  ��О&� 

2.1 �47=4Gе=8е 

�пп4D4т 46то<4т8GеEк89 л45оD4тоD=K9 ЛинтеЛ® � �!-21 (6 д4лL=е9Hе< 4пп4D4т) 877ото6ле= Eо-
7л4E=о �&� . 441336.055 &', O6лOетEO 8EпKт4телL=K< о5оDудо64=8е< =4EтолL=о7о т8п4 8 пDед=4-
7=4Gе= длO опDеделе=8O DD4кF8о==о7о EоEт464 =еDт8 8 E6етлKE =еDтепDодукто6 6 Eоот6етEт688 
Eо Eт4=д4Dт4<8  

 �О!& 2177. �еDтепDодуктK. �етодK опDеделе=8O DD4кF8о==о7о EоEт464; 

 �О!&   �� �!О 3405. �еDтепDодуктK. �етод опDеделе=8O DD4кF8о==о7о EоEт464 пD8 4т<о-
EDеD=о< д46ле=88; 

 ASTM D 86. Standard Test Method for Distillation of Petroleum Products at Atmospheric Pres-

sure. 

2.2 &еE=8GеEк8е E4D4ктеD8Eт8к8 

2.2.1 ЭкEплу4т4F8о==Kе E4D4ктеD8Eт8к8 4пп4D4т4 ук474=K 6 т45л8Fе 1. 

&45л8F4 1 – ЭкEплу4т4F8о==Kе E4D4ктеD8Eт8к8 

%4D4ктеD8Eт8к4 
�д8=8F4 
87<еDе=8O 

�=4Gе=8е 

�Dе<O пDо6еде=8O 8EпKт4=8O, =е 5олее <8= 90 

�4пDO6е=8е Eет8 п8т4=8O � от 187 до 253 

'4Eтот4 Eет8 п8т4=8O �F от 49 до 51 

�отDе5лOе<4O <оI=оEтL, =е 5олее �т 1500 

&е<пеD4туD4 окDу64NIе9 EDедK °! от 10 до 35 

От=оE8телL=4O 6л46=оEтL пD8 те<пеD4туDе +25°!, =е 5олее % 80 

�т<оEDеD=ое д46ле=8е << Dт.Eт. от 610 до 790 

2.2.2 �4EEо-7454D8т=Kе E4D4ктеD8Eт8к8 4пп4D4т4 ук474=K 6 т45л8Fе 2. 

&45л8F4 2 –�4EEо-7454D8т=Kе E4D4ктеD8Eт8к8 

%4D4ктеD8Eт8к4 
�д8=8F4 
87<еDе=8O 

�=4Gе=8е 

�4EE4 4пп4D4т4(5е7 уGет4 тепло=оE8телO 6 54=е), =е 5олее к7 50 

 47<еDK 4пп4D4т4 (H8D8=4 E 6KEот4 E 7лу58=4) << 585E750E515 

�4EE4 4пп4D4т4 6 уп4ко6ке, =е 5олее к7 90 

 47<еDK 4пп4D4т4 6 уп4ко6ке(H8D8=4 E 6KEот4 E 7лу58=4) << 748E952E640  
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2.2.3 &оG=оEт=Kе E4D4ктеD8Eт8к8 4пп4D4т4 ук474=K 6 т45л8Fе 3. 

&45л8F4 3 – &оG=оEт=Kе E4D4ктеD8Eт8к8  

%4D4ктеD8Eт8к4 
�д. 
87<.  

�84п47о= 

87<еDе=8O 

&оG=оEтL 87<еDе=8O  

�8EкDет-
=оEтL �О!& 2177 

ASTM D 86 8 
�О!&   �� 
�!О 3405 

О5Jе< ото7=4==о7о  
пDодукт4 

<л от 0 до 100 ±0,5 ±0,3 

0,1 &е<пеD4туD4 п4Dо6  
пDодукт4 

°! 

от 0 до 100 

±0,5 

±1,0 

от 100 до 300 ±1,0 

от 300 до 4501 ±1,5 

�4Dо<етD8GеEкое д46ле=8е к 4 от 81.3 до 105.3 ±0,1 ±0,1 

&е<пеD4туD4 оEл46д4NIе9 
54=8 

°! от 0 до 60 ±0,5 

0,1 &е<пеD4туD4 пD8е<=8к4 °! от 13 до 60 ±0,5 

!коDоEтL от7о=42 <л/<8= 0 до 9 ±0,5 

�DедпD8Oт8е-877ото68телL 74D4=т8Dует =е87<е==оEтL тоG=оEт=KE E4D4ктеD8Eт8к, подт6еD6де=-
=KE пD8 пеD68G=о9 4ттеEт4F88 поEле тD4=EпоDт8Dо6к8. 
2.2.4 �4D4<етDK D45оGе9 EDедK оEл46д4NIе9 54=8 ук474=K 6 т45л8Fе 4. 

&45л8F4 4 – �4D4<етDK тепло=оE8телO 

%4D4ктеD8Eт8к4 �д. 87<. �=4Gе=8е 

&епло=оE8телL: 
- длO 1, 2, 3 7DуппK 

- длO 4 7DуппK 

- длO �О!& 2177 �етод � 

 

 

Mт4=ол, =е <е=ее 40 % 

6од4 8л8 Mт4=ол, =е <е=ее 40 % 

6од4 

О5Jе< оEл46д4NIе9 54=8 л 4 

&е<пеD4туD4  °С от 0 до плNE 60 

2.2.5 �4D4<етDK 8EпKт4=8O, о5еEпеG864е<Kе 4пп4D4то<, ук474=K 6 т45л8F4E 5, 6. 

&45л8F4 5 – �4D4<етDK 8EпKт4=8O 

�4D4<етD 
�д. 
87<. 

�О!& 2177 �О!&   �� �!О 3405 ASTM D 86 

�Dупп4 �=4Gе=8е �Dупп4 �=4Gе=8е �Dупп4 �=4Gе=8е 

&е<пеD4туD4 
пD8е<=8к4 

°! 
1, 2, 3 от +13 до +18      1, 2, 3 от +13 до +18 1, 2, 3 от +13 до +18 

4 от +15 до +35 4 от +15 до +35 4 от +15 до +35 

�Dе<O до 
=4G4л4 к8пе-
=8O3 

<8= 
1, 2, 3 от 5 до 10 1, 2, 3 от 5 до 10 1, 2, 3 от 5 до 10 

4 от 5 до 15 4 от 5 до 15 4 от 5 до 15 

�Dе<O от 
=4G4л4 к8пе-
=8O3 до 

полуGе=8O 5% 
от7о=4 

Eек 

1, 2 от 60 до 75 1, 2 от 60 до 100 1, 2 от 60 до 100 

3, 4 =е о7D4=8Gе=о 3, 4  =е о7D4=8Gе=о 3, 4 =е о7D4=8Gе=о 

 

                                                      
1 �D8 8EполL7о64=88 кол5K Э=7леD4 87 к64DFе6о7о Eтекл4 87 ко<плект4 по ��$ 4.071.011. 
2  �7<еDOетEO пD8 от7о=е: от 5 до 93,5 % (ASTM D86 8 �О!&   �� �!О 3405), от 5 до 95 % (�О!& 2177). 
3  �468E8т от пеD68G=о9 <оI=оEт8 =47Dе64 (п4D4<етD P1 пD8 6K5D4==о< �л7оD8т<е 1). 
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�4D4<етD 
�д. 
87<. 

�О!& 2177 �О!&   �� �!О 3405 ASTM D 86 

�Dупп4 �=4Gе=8е �Dупп4 �=4Gе=8е �Dупп4 �=4Gе=8е 

�Dе<O от 93,5  
(95)% от7о=4 
до ко=F4 к8-
пе=8O 

<8= 

1, 2 от 2 до 5 

    
3, 4 =е 5олее 5 

�Dе<O от 5 
<л оEт4тк4 6 
кол5е  
до ко=F4 к8-
пе=8O1 

<8= 

 

1, 2 

 

 

от 3 до 5 

 
1, 2, 3, 4 =е 5олее 5 1, 2, 3, 4 =е 5олее 5 

3, 4 =е 5олее 5 

�<8т4F8O 
теD<о<етD4 

 1, 2, 3 ASTM 7C 1, 2, 3 ASTM 7C 1, 2, 3 ASTM 7C 

4 ASTM 8C 4 ASTM 8C 4 ASTM 8C 

&45л8F4 6 – �4D4<етDK 8EпKт4=8O (�О!& 2177, <етод �) 

�4D4<етD �д. 87<. 
�О!& 2177, <етод � 

&е<=Kе  
=еDтепDодуктK 

�еDтL  

�Dе<O до =4G4л4 к8пе=8O2 <8= 10-15 5-10 

!коDоEтL от7о=4 от 5% до 93,5 (95)%  от7о=4 <л/<8= 
2-3 (пеD6KE 8-10 E<3); 

4-5 (поEле 10 E<3) 

2-5 (пеD6KE 8-10 E<3); 

2-2,5 (поEле 10 E<3) 

�<8т4F8O теD<о<етD4  &�-7 

2.2.6 �еDеGе=L 46то<4т878Dо64==KE Dу=кF89 4пп4D4т4: 
1) 46то<4т8GеEкое 74д4=8е 6EеE тDе5уе<KE п4D4<етDо6 пD8 6K5оDе пDодукт4; 
2) 87<еDе=8е те<пеD4туDK п4Dо6, те<пеD4туDK 54=8 8 те<пеD4туDK пD8U<=8к4;  
3) 87<еDе=8е о5Jе<4 6 <еD=о< F8л8=дDе; 
4) 87<еDе=8е 54Dо<етD8GеEко7о д46ле=8O; 
5) 87<еDе=8е 6Dе<е=8 до =4G4л4 к8пе=8O, от =4G4л4 к8пе=8O до 5% от7о=4, от 93,5% (ASTM D86 8 

�О!&   �� �!О 3405) 8л8 от 95% (�О!& 2177) от7о=4 до ко=F4 к8пе=8O, 4 т4к6е 6Dе<е=8 от 5 <л 
оEт4тк4 6 кол5е до ко=F4 к8пе=8O; 

6) поддеD64=8е <оI=оEт8 =47Dе64телO до =4G4л4 к8пе=8O, 4 т4к6е поддеD64=8е EкоDоEт8 от7о-
=4 4пп4D4то< пD8 по<оI8 Dе7ул8Dо64=8O <оI=оEт8 =47Dе64 6 7468E8<оEт8 от 7DуппK пDодук-
т4; 

7) поддеD64=8е те<пеD4туDK оEл46д4NIе9 54=8; 
8) поддеD64=8е 74д4==о9 те<пеD4туDK пD8U<=8к4 длO 7DуппK 1-4; 

9) 76уко64O E87=4л874F8O =4G4л4 к8пе=8O 8 око=G4=8O пеDе7о=к8; 
10) Dе78EтD4F8O те<пеD4туDK =4G4л4 8 ко=F4 к8пе=8O, 4 т4к6е пDоFе=т4 от7о=4; 
11) 6EтDое==4O 46то<4т8GеEк4O E8Eте<4 по64DотуHе=8O; 

12) Dе78EтD4F8O те<пеD4туDK D47ло6е=8O по =464т8N кл468H8; 
13) Dе78EтD4F8O те<пеD4туDK EуEо9 тоGк8 E по<оILN теD<оп4DK3; 

14) пDекD4Iе=8е =47Dе64 поEле Dе78EтD4F88 ко=F4 к8пе=8O, D47ло6е=8O, EуEо9 тоGк8; 
15) 6клNGе=8е оEл46де=8O 6 ко=Fе пеDе7о=к8, E оEл46де=8е< =47Dе64телO до те<пеD4туDK =4 

5°! 6KHе ко<=4т=о9; 
                                                      
1 ОEт4ток 6 кол5е опDеделOетEO E уGUто< д8=4<8GеEко7о пеDепуEк4, котоDK9 EоEт46лOет 1,5 <л. ОEт4тку 6 кол5е 5 <л 
5удет Eоот6етEт6о64тL о5JU< 6 <еD=о< F8л8=дDе = 93,5 <л (пеDе7=4==K9). 
2 �468E8т от пеD68G=о9 <оI=оEт8 =47Dе64 (п4D4<етD P1 пD8 6K5D4==о< �л7оD8т<е 1). 
3 �оEт46лOетEO по отделL=о<у 74к47у. 
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16) 87<еDе=8е оEт4тк4;  
17) 8<8т4F8O теD<о<етDо6 ASTM7C, ASTM8C, &�-7; 

18) EоED4=е=8е 6 M=еD7о=е7468E8<о9 п4<Oт8 4пп4D4т4 до 200 Dе7улLт4то6 8EпKт4=8O 8 7D4D8ко6 
д8Eт8ллOF88, 4 т4к6е допол=8телL=о9 8=DоD<4F88 о Eо5лNде=88 уEло689 8EпKт4=8O, E 
6о7<о6=оEтLN 6K6од4 =4 пеDEо=4лL=K9 ко<пLNтеD (�К) E по<оILN подE8Eте<K 5еEпDо6од-
=о7о 8=теDDе9E4 (���)1. 

2.3 'EтDо9Eт6о 8 D45от4 

2.3.1 Ко<плект=оEтL поEт46к8 

1) �пп4D4т ЛинтеЛ® � �!-21 ��$ 2.840.009. 

2) ЭкEплу4т4F8о==Kе доку<е=тK: 
  уко6одEт6о по MкEплу4т4F88 ��$ 2.840.009  Э; 
 �4EпоDт ��$ 2.840.009 �!; 
 �Dо7D4<<4 8 <етод8к4 4ттеEт4F88 ��$ 2.840.009 ��. 
3) Ко<плект пD8=4дле6=оEте9. 

2.3.2 О5I8е E6еде=8O 

К оE=о6=K< Dу=кF8O< 4пп4D4т4 <о6=о от=еEт8: о5еEпеGе=8е Eт458лL=KE уEло689 8EпKт4=8O 
(46то<4т8GеEкое поддеD64=8е те<пеD4туDK 54=8, пD8е<=8к4, EкоDоEт8 от7о=4), 46то<4т8GеEкое 
пDо6еде=8е д8Eт8ллOF88, D8кE4F8N те<пеD4туDK =4G4л4 8 ко=F4 к8пе=8O, те<пеD4туDK по 
от7о=у. 
�еDед пDо6еде=8е< 8EпKт4=8O 6 <еD=K9 F8л8=дD =4л864етEO 100 <л пDодукт4. �4те< пDодукт 87 
<еD=о7о F8л8=дD4 пеDел864етEO 6 кол5у Э=7леD4.  
�еD=K9 F8л8=дD уEт4=46л864етEO 6 E8Eте<у 46то<4т8GеEко7о 87<еDе=8O уDо6=O 8 E8Eте<4 
7еD<ет8G=о 74кDK64етEO длO о5еEпеGе=8O теD<оEт4т8Dо64=8O. �D8 =ео5Eод8<оEт8, 6 7468E8<оEт8 
от 7DуппK 8EпKтуе<о7о пDодукт4, <еD=K9 F8л8=дD оEл46д4етEO 74 EGUт теплоо5<е=4 <е6ду 
пD8U<=8ко< 8 68дкоEт=о9 54=е9 4пп4D4т4. � пDоFеEEе 8EпKт4=8O 4пп4D4т 46то<4т8GеEк8 
Dе7ул8Dует те<пеD4туDу 6 6о7дуH=о9 54=е пD8U<=8к4 6 пDедел4E от плNE 13 до плNE 60 °!. 
� 7оDло68=у кол5K =4 74д4==уN 7лу58=у уEт4=46л864етEO д4тG8к те<пеD4туDK п4Dо6. �4тG8к 
те<пеD4туDK, пD8<е=Oе<K9 6 4пп4D4те, о5еEпеG864ет 6KEокуN тоG=оEтL 87<еDе=8O, пD8 Mто< е7о 
п4D4<етDK Eо6п4д4Nт E п4D4<етD4<8 Dтут=о7о теD<о<етD4. �4тG8к те<пеD4туDK уEт4=46л864етEO 
6 7оDло68=у кол5K пD8 по<оI8 пDо5к8, 6Kпол=е==о9 87 DтоDопл4Eт4 E допол=8телL=K<8 
уплот=8телL=K<8 Dе78=о6K<8 колLF4<8. 
�4Dоот6од=4O тDу5к4 кол5K 6Eт46лOетEO 6 6еDE=89 ко=еF тDу5к8 ко=де=E4тоD4 GеDе7 пDо5ку. 
�Dо5к8 6Kпол=е=K 87 упDу7о7о 64DопDоG=о7о <4теD84л4, о5л4д4NIе7о 6KEоко9 
87=оEоEто9коEтLN 8 по76олONт пD8<е=OтL кол5K E 5олLH8<8 допуEк4<8 =4 д84<етDK 7оDло68=K 
8 п4Dоот6од=о9 тDу5к8 Eо7л4E=о �О!& 25336. 
�оEле уEт4=о6к8 п4Dоот6од=о9 тDу5к8 кол5K 6 тDу5ку ко=де=E4тоD4, =ео5Eод8<о пл46=K< 6D4-
Iе=8е< DукоOтк8 подJU<4 =47Dе64телO (E<. D8Eу=ок 1), 6 =4пD46ле=88 по G4Eо6о9 EтDелке, 

под6еEт8 =47Dе64телL к Dе7еD6у4Dу кол5K.  
�4 =47Dе64телL дол6=4 5KтL уEт4=о6ле=4 од=4 87 подEт46ок длO кол5K, E от6еDEт8е< д84<етDо< 
50 8л8 38 <<, 6Kпол=е==4O 87 64DопDоG=о7о Eтекл4. 
�лO 74пуEк4 Dе68<4 теD<оEт4т8Dо64=8O =ео5Eод8<о =464тL к=опку «�4=O (6кл.)». 
�лO 74пуEк4 8EпKт4=8O =ео5Eод8<о =464тL к=опку «�EпKт4=8е». 
 е7улOтоD 4пп4D4т4 46то<4т8GеEк8 6KдеD6864ет 6Dе<O до =4G4л4 к8пе=8O, поддеD6864O 
<оI=оEтL =47Dе64телO =4 уDо6=е, 7468EOIе< от 7DуппK пDодукт4. �4==Kе о те<пеD4туDе 
=47Dе64телO поEтуп4Nт E д4тG8к4, уEт4=о6ле==о7о =епоEDедEт6е==о 6 =47Dе64теле. &е<пеD4туD4 
=4G4л4 к8пе=8O пDодукт4 46то<4т8GеEк8 Dе78EтD8DуетEO опт8GеEко9 E8Eте<о9 по п4де=8N пеD6о9 
к4пл8 6 <еD=K9 F8л8=дD E =86=е7о ко=F4 тDу5к8 ко=де=E4тоD4. 
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�пп4D4т отEле6864ет о5JU< пDодукт4 6 F8л8=дDе E по<оILN E8Eте<K 46то<4т8GеEко7о 
87<еDе=8O уDо6=O, E H47о< 0,1 <л.  
�4==Kе о пDоFе=те от7о=4 8 те<пеD4туDе пDодукт4 ото5D464NтEO =4 д8Eплее 8 EоED4=ONтEO 6 
п4<Oт8 4пп4D4т4.  
� 4пп4D4те пDедуE<отDе= Dе68< 8EпKт4=8O, пDедуE<4тD864NI89 Dе7ул8Dо6ку =47Dе64 68дкоEт8 
пD8 по<оI8 опт8GеEко7о д4тG8к4 те<пеD4туDK (�л7оD8т< 2). Этот 4л7оD8т< по76олOт тоG=ее 
6KдеD6864тL =4G4лL=Kе 6Dе<е==Kе п4D4<етDK пеDе7о=к8.    
� пDоFеEEе от7о=4 от 5% до 93,5 (95)% Dе7улOтоD <оI=оEт8 =47Dе64телO 46то<4т8GеEк8 
поддеD6864ет EкоDоEтL от7о=4 от 4 до 5 <л 6 <8=уту. �4G8=4O E 93,5 (95)% от7о=4, 4пп4D4т 
46то<4т8GеEк8 6KдеD6864ет 6Dе<O до ко=F4 к8пе=8O пDодукт4. 
�4 пDоFеEEо< пеDе7о=к8 <о6=о =45лNд4тL 687у4лL=о GеDе7 E<отDо6ое ок=о, D4Eполо6е==ое 
=4пDот86 кол5K, 4 т4к 6е  GеDе7 ок=о пD8е<=8к4. 
�пп4D4т 46то<4т8GеEк8 пDо876од8т коDDект8Dо6ку пок474=89 =4 54Dо<етD8GеEкое д46ле=8е, 
6KG8EлOет от7о=, потеD8 8 6Kп4D864=8е. 
�о око=G4=88 8EпKт4=8O, 4пп4D4т 46то<4т8GеEк8 6KклNG4ет =47Dе64телL, EоED4=Oет Dе7улLт4тK 
8EпKт4=8O 6 M=еD7о=е7468E8<о9 п4<Oт8, 6клNG4ет оEл46де=8е =47Dе64телO 8 пеDеEод8т 6 Dе68< 
о68д4=8O. 

 9EFB 8?O D4;J9@4 CB8>?NG9A<O 
84FG<>4 EGEB= FBG><

Э?9>FDBAAK= 
5?B> < 54AO

�<AFK 5?B>4 A47D964

Д69DF4  5?B>4 A47D964

�?B> A47D964

�4D@4A 
8?O GEF4AB6>< 84FG<>4 
F9@C9D4FGDK C4DB6

ШFGF9D CB8>?NG9A<O
E<EF9@K CB:4DB;4I<FK

Ш?4A7 ;4?<64 
(E?<64) F9C?BABE<F9?O

 G>BOF>4 CB8J9@4 
A47D964F9?O 

�6FB@4F<G9E><= 
6K>?NG4F9?L

�DKH>4 9@>BEF< 
E5BDA<>4 5?B>4 A47D964

 97G?<DB6BGAK9 AB:><

�EAB64A<9

�DKH>4 9@>BEF< 
E5BDA<>4 CD<9@A<>4

�D<9@A<>

�4D@4A 8?O 
GEF4AB6>< 

 B8G?O ��И

�DKH>4 CD<9@A<>4

�B8EF46>4 8?O >B?5K

�ABC>4 6>?NG9A<O

�<F964O C4A9?L

 4;J9@ CB8>?NG9A<O 84FG<>4 
F9@C9D4FGDK C4DB6 CDB8G>F4

Д4FG<> F9@C9D4FGDK 
C4DB6 CDB8G>F4

 
 8Eу=ок 1 – О5I89 68д 4пп4D4т4 

�од =47Dе64теле< 6 5локе =47Dе64 уEт4=о6ле=4 пл4<е74EOI4O 6оDо=к4, под 6оDо=ко9 D4Eполо6е= 
E5оD=8к =еDтепDодукто6. � EлуG4е пDол864 пDодукт4 =4 =47Dе64телL 8 е7о 6оEпл4<е=е=8O, 
68дкоEтL пеDетек4ет GеDе7 6оDо=ку 6 E5оD=8к длO пDедот6D4Iе=8O 6о7=8к=о6е=8е по64D4. 
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�пп4D4т 8<еет 6о7<о6=оEтL подклNGе=8O <одулO E8Eте<K 5еEпDо6од=о7о 8=теDDе9E4 ���1 длO 
46то<4т8GеEко9 пеDед4G8 Dе7улLт4то6 8EпKт4=89 =4 пеDEо=4лL=K9 ко<пLNтеD поEDедEт6о< 
ЛинтеЛ® Л��К1 8 поEледуNIе9 о5D45отк8 «Л45оD4тоD=о9 8=DоD<4F8о==о9 E8Eте<о9 ЛинтеЛ® 

 Л�!»1. 

2.3.3 Ко=EтDукF8O 4пп4D4т4 

О5I89 68д 4пп4D4т4 пDедEт46ле= =4 D8Eу=ке 1. �пп4D4т EоEто8т 87 5лок4 =47Dе64, оEл46д4NIе9 
54=8, пD8е<=8к4 E л8Fе6о9 п4=елLN, MлектDо==о7о 5лок4, котоDKе уEт4=о6ле=K =4 ед8=о< 
оE=о64=88. 
�4 MлектDо==о< 5локе Eле64 D4Eполо6е= 46то<4т8GеEк89 6KклNG4телL, Eлу64I89 длO 6клNGе=8O 
4пп4D4т4. �4 74д=е9 G4Eт8 оE=о64=8O D4Eполо6е=K кле<<4 747е<ле=8O, деD64тел8 
пDедоED4=8теле9, д4тG8к ко<=4т=о9 те<пеD4туDK, 4 т4к 6е H=уD п8т4=8O. 
 

3 �О��О&О�К� К 1К!�Л'�&�&�� 

3.1 &Dе5о64=8O к <еEту уEт4=о6к8 

3.1.1 Ко=EтDукF8O 4пп4D4т4 пDедпол474ет =4EтолL=уN уEт4=о6ку. 

� <еEте уEт4=о6к8 допуEк4етEO 685D4F8O G4Eтото9 от 5 до 25 �F E 4<пл8тудо9 =е 5олее 0,1 <<. 

3.1.2 �еEто уEт4=о6к8 4пп4D4т4 дол6=о 8EклNG4тL поп4д4=8е пDO<KE Eол=еG=KE луGе9 =4 ок=о 
пD8U<=8к4 8 л8Fе6уN п4=елL 4пп4D4т4. 

В�И�А�ИЕ 
�о 875е64=8е пеDе7Dе64 окDу64NIе7о 6о7дуE4, =е Dеко<е=дуетEO уEт4=46л864тP 4пп4D4т 6 
6OтO6=о9 Hк4D. 

3.1.3 Кле<<4 747е<ле=8O 4пп4D4т4 дол6=4 5KтL подклNGе=4 к ко=туDу 747е<ле=8O.  
3.1.4 �од4G4 7474 дол6=4 оEуIеEт6лOтLEO по Eоед8=8телL=о9 тDу5ке, подклNGе==о9 к HтуFеDу 

E8Eте<K по64Dо74I8тK =4 5око6о9 Eте=ке MлектDо==о7о 5лок4 (E<. D8Eу=ок 1). � к4GеEт64 
7474 длO E8Eте<K по64DотуHе=8O допуEк4етEO 8EполL7о64тL 47от (N2) 8л8 д6уок8EL у7леDод4 

(CO2). �46ле=8е 7474 =4 6Eоде 4пп4D4т4 дол6=о 5KтL 6 д84п47о=е от 4 до 6 4т<оEDеD. �D8 
под7ото6ке 4пп4D4т4 к D45оте от 747о6о9 E8Eте<K по64Dо74I8тK у5ед8тLEO 6 7еD<ет8G=оEт8 
Eоед8=е=8O 747о6о9 л8=88 E 6Eод=K< 747о6K< HтуFеDо<, 8EполL7уO <KлL=K9 D4Eт6оD. 

3.1.5 �D8 8EполL7о64=88 4пп4D4т4 Eо6<еEт=о E л45оD4тоD=о9 8=DоD<4F8о==о9 E8Eте<о9 ЛинтеЛ® 

 Л��К1 у5ед8теEL, Gто <одулL ���1 подклNGе= к 4пп4D4ту, к D47Jе<у, D4Eполо6е==о<у =4 
л8Fе6о9 п4=ел8 EпD464 (E<. D8Eу=ок 1).  

3.1.6 �4л8тL 6 оEл46д4NIуN 54=N GеDе7 Hл4=7 (E<. D8Eу=ок 1) тепло=оE8телL 6 Eоот6етEт688 E 
п.2.2.4. 'Dо6е=L тепло=оE8телO 6 оEл46д4NIе9 54=е 4пп4D4т4 дол6е= 5KтL <е6ду <етк4<8 
«���» 8 «��К!».  

�464тL к=опку «�4=O (6кл.)»  8 подо6д4тL од=у <8=уту. �Eл8 уDо6е=L по=878лEO, до5468тL тепло-
=оE8телL до ук474==о7о уDо6=O. 
3.2 �=еH=89 оE<отD 

�еDед =4G4ло< MкEплу4т4F88 4пп4D4т4: 
1) оE6о5од8тL 4пп4D4т от уп4ко6к8; 
2) пDо6еD8тL ко<плект=оEтL поEт46к8; 
3) 6Kпол=8тL 6=еH=89 оE<отD 4пп4D4т4 =4 =4л8G8е по6Dе6де=89; 

4) пDо6еD8тL =4л8G8е EопDо6од8телL=о9 доку<е=т4F88. 
�4 6Eе деDектK EоEт46лOетEO Eоот6етEт6уNI89 4кт. 
 

                                                      
1 �оEт46лOетEO по отделL=о<у 74к47у. 
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3.3 ОпDо5о64=8е 

В�И�А�ИЕ 
�оEле 6=еEе=8O 6 от4пл864е<ое по<еIе=8е 87 7о=O E те<пеD4туDо9 =86е 10°!, 6OдеD64тP 
4пп4D4т 6 уп4ко6ке =е <е=ее 4 G. 

3.3.1 �одклNG8тL 4пп4D4т к Eет8, 6клNG8тL 46то<4т8GеEк89 6KклNG4телL 8 кD4тко6Dе<е==о 
=464тL к=опку 6клNGе=8O 4пп4D4т4. 

3.3.2 �оEле 6клNGе=8O п8т4=8O 4пп4D4т =4G8=4ет пDо6од8тL E4<од847=оEт8ку. �4 д8Eпле9 6K6о-
д8тEO EледуNI4O 8=DоD<4F8O (E<. D8Eу=ок 2). 

 
 8Eу=ок 2 – Ок=о 747Dу7к8 

4 �!�ОЛ0�О����� �О �����'���. 

4.1 �опол=8телL=ое о5оDудо64=8е 8 <4теD84лK 

�опол=8телL=Kе <4теD84лK длO D45отK 4пп4D4т4 ук474=K 6 т45л8Fе 7. 

&45л8F4 7 – �опол=8телL=Kе <4теD84лK 

�4теD84л �47=4Gе=8е 

�е=78= «�4лоH4» пDо<K6к4 <еD=о7о F8л8=дD4, кол5K Э=7леD4 8 оG8Eтк4 тDу5к8 
ко=де=E4тоD4 !4лDетк4 EлопG4то-5у<46=4O 

К8пелк8 
по<еEт8тL 6 кол5у пD8 D477о=ке 5е=78=о6 8л8 пDодукто6, 6 ко-
тоDKE еEтL 6еDоOт=оEтL EодеD64=8O 6одK 

4.2 1кEплу4т4F8о==Kе о7D4=8Gе=8O 

1) кле<<4 «�е<лO» =4 74д=е9 п4=ел8 4пп4D4т4 дол6=4 5KтL подклNGе=4 к 6=еH=е9 747е<лON-
Iе9 H8=е; 

2) 74пDеI4етEO 6клNGе=8е 4пп4D4т4 пD8 E=Oто9 кDKHке MлектDо==о7о 5лок4. �D8 6Kпол=е=88 
D45от, E6O74==KE Eо E=Oт8е< кDKHк8, =ео5Eод8<о отEоед8=8тL Eете6уN 68лку от Dо7етк8; 

3) пD8 D45оте E 4пп4D4то< о5Eлу6864NI89 пеDEо=4л дол6е= 6Kпол=OтL пD468л4 теE=8к8 
5е7оп4E=оEт8 пD8 D45оте E MлектD8GеEк8<8 уEт4=о6к4<8 E =4пDO6е=8е< до 1000�; 

4) о5Eлу6864NI89 пеDEо=4л дол6е=: 
 пDо9т8 о5уGе=8е длO D45отK E 4пп4D4то< 8 полуG8тL допуEк; 
 7=4тL пD8=F8п де9Eт68O 4пп4D4т4; 
 7=4тL пD468л4 5е7оп4E=о7о о5Eлу6864=8O; 
 7=4тL поDOдок де9Eт689 пD8 6о7=8к=о6е=88 E5оO. 

5) 74пDеI4етEO пDо876од8тL D45отK 6 MлектD8GеEко9 EEе<е 4пп4D4т4, =4EодOIе7оEO под 
=4пDO6е=8е<; 

6) Dе68< D45отK 4пп4D4т4 =епDеDK6=K9, E 6KклNGе=8е< ту<5леD4 п8т4=8O поEле око=G4=8O 
D45отK; 

7) пD8 пDо6еде=88 8EпKт4=89 <о7ут 8EполL7о64тLEO ле7ко6оEпл4<е=ONI8еEO 68дкоEт8. �D8 
оE=4Iе=88 л45оD4тоD88 Eледу9те тDе5о64=8O< Eоот6етEт6уNI8E =оD<4т86=KE доку<е=то6. 
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�4пD8<еD, �D468л4<8 по64D=о9 5е7оп4E=оEт8 пD8 MкEплу4т4F88 пDедпD8Oт89 E8<8GеEко9 
пDо<KHле==оEт8, ��Э 5-79 ���О-103-79, пDедуE<отDе=о: 
п. 6.1.20. �о<еIе=8O л45оD4тоD88 8 4DE864 дол6=O 5OтP о5еEпеGе=O EDедEт64<8 по64-
DотуHе=8O 6 Eоот6етEт688 E 8<еNI8<8EO =оD<4<8 E уGето< EпоEо5=оEте9 8EEледуе-
<OE 6 л45оD4тоD88 6еIеEт6. 
п. 17.1.2.  �оDоHко6Oе о7=етуH8тел8 6 7468E8<оEт8 от <4Dк8 поDоHк4 пDед=47=4Gе=O 
длO туHе=8O 7оDNG8E 68дкоEте9 8 747о6, QлектDоуEт4=о6ок под =4пDO6е=8е< до 600� 
(�!�). 

8) =ео5Eод8<о 8EклNG8тL поп4д4=8е поEтоDо==8E пDед<ето6, пDол86 68дкоEте9 6=утDL 5лок4    
=47Dе64 8 =4 Eп8D4лL =47Dе64телO. �Eл8 Mто пDо87оHло, пеDед оG8Eтко9 5лок4 =47Dе64 
=ео5Eод8<о отклNG8тL п8т4=8е 4пп4D4т4, 6K=у6 68лку 87 Eете6о9 Dо7етк8; 

9) допуEк4етEO 8EполL7о64тL E64тK9 6о7дуE длO оG8Eтк8 =47Dе64телO.  �оEтоDо==8е пDед<етK 8 
68дкоEт8, пDоHедH8е GеDе7 =47Dе64телL 8 уп46H8е (8л8 пDол8тKе) под =е7о, <о6=о 876леGL, 
6Kд68=у6 E5оD=8к. 

�лO 876леGе=8O е<коEт8 E5оD=8к4 5лок4 =47Dе64телO, =ео5Eод8<о откDут8тL 68=т кDепле=8O под-
Eт46к8 E по<оILN от6UDтк8 8 876леGL ее (E<. D8Eу=ок 1). 'Eт4=о6ку E5оD=8к4 пDо876од8тL 6 о5-
D4т=о< поDOдке. 
4.3 �од7ото6к4 пDо5K 

�од7ото68тL пDо5у 6 Eоот6етEт688 Eо Eт4=д4Dто< =4 8EпKт4=8е. 

4.4 �од7ото6к4 4пп4D4т4 к пDо6еде=8N 8EпKт4=8O 

4.4.1 �клNGе=8е 4пп4D4т4 

4.4.1.1 �еDед =4G4ло< D45отK =4EтоOтелL=о Dеко<е=дуетEO о7=4ко<8тLEO E оп8E4=8е< Mле<е=-
то6 полL7о64телLEко7о 8=теDDе9E4 8 6748<оде9Eт68O E =8<8 (E< � �ЛО����� �).  

4.4.1.2 �клNG8тL 4пп4D4т Eо7л4E=о п.3.3, EтD4=8F4 8. 

4.4.1.3 'еDе7 10 Eеку=д 8л8 пD8 =464т88 к=опк8 «�Dодол68тL» 4пп4D4т пеDеклNG8тEO 6 Dе68< 
под7ото6к8 к 8EпKт4=8N. �4 д8Eплее ото5D478тEO MкD4=, пD86еде==K9 =4 D8Eу=ке 3. 

 

 
 8Eу=ок 3 – Ок=о «О68д4=8е» 

� 7D4Dе «�4д4==K9 д84п47о=» ук474=K допуEт8<Kе 8=теD64лK 7=4Gе=89 п4D4<етDо6 длO 6K-
5D4==о7о <етод4 8 7DуппK. 
� 7D4Dе «&екуIее 7=4Gе=8е» ук474=о текуI8е пок474=8O д4тG8ко6. 
К=опк8 « ед.» пDед=47=4Gе=K длO Dед4кт8Dо64=8O Eп8Eк4 пDодукто6 8 Eп8Eк4 8Eпол=8теле9 (E<. 
� �ЛО����� �). 

4.4.2 �од7ото6к4 к 8EпKт4=8N 

В�И�А�ИЕ 
'5ед8тPEO, Gто уEт4=о6ле=4 подEт46к4 длO кол5O (пл4Eт8=4) E д84<етDо< от6еDEт8O 38 8л8 50 <<. 
�84<етD от6еDEт8O 7468E8т от 7DуппO 8EпOтуе<о7о пDодукт4 8 ук474= 6 Eт4=д4Dте =4 <етод 8EпO-
т4=8O. �о 875е64=8е поD46е=8O QлектD8GеEк8< токо<, 74<е=у подEт46к8 длO кол5O пDо876од8тP 
толPко пD8 6OклNGе==о< 4пп4D4те! 
НедопуEт8<4 од=о6Dе<е==4O уEт4=о6к4 д6уE подEт46ок! 
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4.4.2.1 �лO поддеD64=8O те<пеD4туDK пD8е<=8к4, отл8G=о9 от ко<=4т=о9, =ео5Eод8<о 74кDKтL 
д6еDFу пD8е<=8к4 (E<. D8Eу=ок 1). 

4.4.2.2 �од7ото68тL пDодукт Eо7л4E=о тDе5о64=8O< к 7Dуппе пDодукт4 8л8 теE=8GеEк8E уEло689 
=4 пDодукт. 

4.4.2.3 �Dо<KтL <еD=K9 F8л8=дD 8 кол5у Э=7леD4 6 D4Eт6оD8теле. �DодутL E64тK< 6о7дуEо< 
<еD=K9 F8л8=дD 8 кол5у 6 теGе=8е 1 <8=утK.  

4.4.2.4 '8EтуN кол5у Э=7леD4 8 F8л8=дD пDо6еD8тL =4 отEутEт68е тDеI8= 8 Eколо6. 
4.4.2.5 �Eл8 тDе5уетEO оEл4д8тL <еD=K9 F8л8=дD, е7о =ео5Eод8<о по<еEт8тL 6 пD8е<=8к до 

пDо6еде=8O 8EпKт4=8O. Кол5у =ео5Eод8<о оEл46д4тL 6 Eолод8лL=о9 к4<еDе. 
4.4.2.6 �4л8тL 6 <еD=K9 F8л8=дD 100 <л пDодукт4. ОткDKтL д6еDFу пD8е<=8к4 6 4пп4D4те  (E<. 

D8Eу=ок 1) 8 уEт4=о68тL <еD=K9 F8л8=дD т4к, Gто5K =86=89 ко=еF тDу5к8 ко=де=E4тоD4 
ок474лEO 6=утD8 <еD=о7о F8л8=дD4. �ет4лл8GеEкое оE=о64=8е F8л8=дD4 дол6=о 
уп8D4тLEO 6 Hт8DтK.  8Eк8 (10 8 100 <л) дол6=K 5KтL о5D4Iе=K 6пеDUд.  

4.4.2.7 �Eл8 пDодукт 5Kл пDед64D8телL=о оEл46де=, пеDе9т8 к п.п. 4.4.2.14. 

4.4.2.8 �4EодOEL 6 Dе68<е о68д4=8O, =464тL к=опку «�е=N» (E<. D8Eу=ок 4). 

 

 
 8Eу=ок 4 – Ок=о «�е=N» 

4.4.2.9 B поO686Hе<EO Eп8Eке опеD4F89 6K5D4тL пу=кт «�Dо6еDк4 8 к4л85Dо6к4». �4 д8Eплее 
ото5D478тEO MкD4=, пD86еде==K9 =4 D8Eу=ке 5. 

 

 
 8Eу=ок 5 – Ок=о «�Dо6еDк4 8 к4л85Dо6к4» 

4.4.2.10 � 7D4Dе «�7<еDе=8е о5Jе<4», =464тL к=опку «�7<еD8тL».  
4.4.2.11 �7<еDе==K9 о5Jе< дол6е= 5KтL 100±0,1 <л. 
4.4.2.12 �Eл8 87<еDе==K9 о5JU< =4Eод8тEO 6=е ук474==о7о д84п47о=4, EкоDDект8Dо64тL 

кол8GеEт6о пDодукт4 6 <еD=о< F8л8=дDе, опеD4F8N 87<еDе=8O о5JU<4 по6тоD8тL.  
4.4.2.13 �Eл8 4пп4D4т 6Kд4ет 7=4Gе=8е, 7=4G8телL=о отл8G4NIееEO от 87<еDOе<о7о о5Jе<4 – 

пDо6еEт8 к4л85Dо6ку 87<еD8телO о5Jе<4 6 Eоот6етEт688 E п. 4.10.3. 

4.4.2.14 �еDел8тL EодеD68<ое <еD=о7о F8л8=дD4 6 кол5у Э=7леD4. �D8 Mто< пDодукт =е дол6е= 
6Kл864тLEO 74 пDеделK кол5K 8 поп4д4тL 6 п4Dоот6од кол5K. 

4.4.2.15 �D8 D477о=ке 5е=78=о6 8л8 пDодукто6, 6 котоDKE еEтL 6еDоOт=оEтL EодеD64=8O 6одK, 
Dеко<е=дуетEO по<еEт8тL 6 кол5у =еEколLко к8пелок. 
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4.4.2.16 �лO 687у4лL=о9 Dе78EтD4F88 те<пеD4туDK ко=F4 пеDе7о=к8 (6Kп4D864=8O) =ео5Eод8<о 
уEт4=о68тL 8EтоG=8к 8EкуEEт6е==о7о оE6еIе=8O =4д 5локо< =47Dе64 т4к8< о5D47о<, 
Gто5K Gетко пDо7лOдK64лоEL д=о кол5K (E<. D8Eу=ок 6). 

4.4.2.17 �лO 8EпKт4=8O 8EполL7о64тL G8EтуN кол5у (5е7 =474D4). 
4.4.2.18 �епоEDедEт6е==о пеDед пDо6еде=8е< 8EпKт4=8O оG8Eт8тL тDу5ку ко=де=E4тоD4, пDоде6 

GеDе7 =еU 785к89 Hо<пол E пDот8DоG=о9 тк4=LN. �D8 о5=4Dу6е=88 =4 тк4=8 пDодукто6 
д8Eт8ллOF88 по6тоD8тL пDот8Dку. �оEле 8EпKт4=8O п4D4D8=EодеD64I8E пDодукто6 
Dеко<е=дуетEO пDо6од8тL G8Eтку тDу5к8 пD8 те<пеD4туDе 54=8 4пп4D4т4 плNE 60°! 8л8 
пDоп8тK64тL пDот8DоG=уN тк4=L D4Eт6оD8теле< (=4пD8<еD, 5е=78=о<), 4 74те< пDот8D4тL 
тDу5ку =4EуEо. 

 
 8Eу=ок 6 –  47<еIе=8е 8EтоG=8к4 8EкуEEт6е==о7о оE6еIе=8O 

4.4.2.19 'Eт4=о68тL д4тG8к те<пеD4туDK п4Dо6 пDодукт4 6 Fе=тD8DуNIее пD8EпоEо5ле=8е, пDед-
64D8телL=о оEл4586 D8кE4тоD д4тG8к4. �о<еEт8тL Fе=тD8DуNIее пD8EпоEо5ле=8е E 
уEт4=о6ле==K< д4тG8ко< 6 7оDло68=у кол5K Э=7леD4 

4.4.2.20 !о6<еEт8тL 6еDE=89 кD49 Gу6Eт68телL=о9 7о=K (6еDE=OO 7D4=8F4 5ело9 74EKпк8) E E4<о9 

6KEоко9 тоGко9 =86=е9 6=утDе==е9 Eте=к8 п4Dоот6од=о9 тDу5к8. 
4.4.2.21 �76леGL д4тG8к E Fе=тD8DуNI8< пD8EпоEо5ле=8е< 87 кол5K, =4=еEт8 D8Eку =4 тDу5ку 

д4тG8к4 по =86=е9 7D4=8Fе Fе=тD8DуNIе7о пD8EпоEо5ле=8O, 6K=утL д4тG8к. 
4.4.2.22 �4=еEт8 6тоDуN D8Eку =4 5 << д4лLHе от Gу6Eт68телL=о9 7о=K д4тG8к4, уEт4=о68тL д4т-

G8к, Eо6<еEт86 6тоDуN D8Eку E =86=е9 7D4=8Fе9 Fе=тD8DуNIе7о пD8EпоEо5ле=8O.  
4.4.2.23 �D8 =ео5Eод8<оEт8 опDеделе=8O EуEо9 тоGк8, 6 E8л8ко=о6уN пDо5ку E д6у<O от6еDEт8O-

<8 уEт4=46л864NтEO д4тG8к те<пеD4туDK п4Dо6 пDодукт4 8 д4тG8к EуEо9 тоGк81.  

4.4.2.24 &е=тD8DуNIее пD8EпоEо5ле=8е (8л8 E8л8ко=о64O пDо5к4) уEт4=46л864етEO 6 7оDло68=у 
кол5K Э=7леD4 (E<. D8Eу=ок 7). �7<еD8телL=4O G4EтL д4тG8к4 те<пеD4туDK п4Dо6 пDодукт4 
уEт4=46л864етEO от=оE8телL=о от6од4 кол5K 6 Eоот6етEт688 E D8Eу=ко< 7 (пD8 8EполL7о-
64=88 Fе=тD8DуNIе7о пD8EпоEо5ле=8O 74тO=утL D8кE4тоD д4тG8к4). 

Д4FG<> F9@C9D4FGDK
C4DB6

Ф<>E4FBD
84FG<>4

Ц9AFD<DGNI99 
CD<ECBEB5?9A<95 @@

 

Д4FG<>
EGEB= FBG><

Д4FG<> F9@C9D4FGDK
C4DB6

!<?<>BAB64O 
CDB5>45 @@

 
�е7 д4тG8к4 EуEо9 тоGк8 ! д4тG8ко< EуEо9 тоGк8 

 8Eу=ок 7 – 'Eт4=о6к4 д4тG8к4 те<пеD4туDK п4Dо6  

                                                      
1 �оEт46лOетEO по отделL=о<у 74к47у 
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� И�ЕЧА�ИЕ 
&4к к4к ко=EтDукF8O Fе=тD8DуNIе7о пD8EпоEо5ле=8O, 74ло6е==4O 6 �О!& ISO 3405 =е по76олOет 
ко<пе=E8Dо64тP D475DоE 6=утDе==8E д84<етDо6 кол5 К Н-125, 6OпуEк4е<OE Eо7л4E=о �О!& 
25336 (17±1<<), поEт46лOе<ое пD8EпоEо5ле=8е пD87од=о длO QкEплу4т4F88 толPко Eо6<еEт=о E 
поEт46лOе<о9 6 ко<плекте кол5о9 К Н-125 пDо876одEт64 �О �!К� «НеDтеE8<46то<4т8к4». 

4.4.2.25 �4кDеп8тL от6од кол5K, E =4дето9 =4 =е7о пDо5ко9, 6 6еDE=е9 G4Eт8 тDу5к8 ко=де=E4тоD4 
т4к8< о5D47о<, Gто5K оEL 6еDт8к4лL=о EтоOIе9 кол5K D4Eпол474л4EL по Fе=тDу от6еDEт8O 
подEт46к8 кол5K. 

4.4.2.26 �л46=о по6оD4G864O DукоOтку подJе<4 =47Dе64телO по G4Eо6о9 EтDелке, под=OтL подEт46-
ку до EопD8коE=о6е=8O Eо д=о< кол5K (E<. D8Eу=ок 1). �D8 Mто< д=о кол5K дол6=о 
поп4EтL 6 от6еDEт8е подEт46к8 кол5K 8 пол=оEтLN 74кDKтL е7о.  

4.4.2.27 �4 =86=89 ко=еF ко=де=E4тоD4 уEт4=о68тL Dе78=о6ое колLFо.  
4.4.2.28 �DотеDетL EлопG4то5у<46=о9 E4лDетко9 <еD=K9 F8л8=дD к4к E=4Dу68, т4к 8 E 6=утDе=-

=е9 EтоDо=K (от 6еDE=е9 кDо<к8 F8л8=дD4 до D8Eк8 100<л). 

4.4.2.29 � <еD=K9 F8л8=дD уEт4=о68тL к4плеот5о9=8к (E<. D8Eу=ок 8). Ко=еF к4плеот5о9=8к4 
дол6е= 5KтL =4пD46ле= 6 EтоDо=у 74д=е9 Eте=к8 пD8е<=8к4. 

 

>B?ьцB

>4C?еBF5B=A<>

D<E>4 <100 @?=

 
 8Eу=ок 8 – 'Eт4=о6к4 <еD=о7о F8л8=дD4 6 пD8U<=8к 

4.4.2.30 ОткDKтL д6еDFу пD8е<=8к4 6 4пп4D4те  (E<. D8Eу=ок 1) 8 уEт4=о68тL <еD=K9 F8л8=дD т4к, 
Gто5K =86=89 ко=еF тDу5к8 ко=де=E4тоD4 ок474лEO 6=утD8 <еD=о7о F8л8=дD4. 
�ет4лл8GеEкое E=о64=8е F8л8=дD4 дол6=о уп8D4тLEO 6 Hт8DтK.  8Eк8 (10 8 100 <л) 
дол6=K 5KтL о5D4Iе=K 6пеDUд.  

4.4.2.31 !еDед8=4 пD8U<=о9 плоI4дк8 к4плеот5о9=8к4 дол6=4 =4Eод8тLEO =4 од=о9 оE8 E E4<о9 
=86=е9 тоGко9 тDу5к8 ко=де=E4тоD4. 

4.4.2.32 �4кDKтL д6еDFу пD8е<=8к4. 

4.5 �Dо6еде=8е 8EпKт4=8O 

4.5.1 �4д4=8е уEло689 8EпKт4=8O 

4.5.1.1 �пп4D4т EодеD68т Eп8Eок =48<е=о64=89 пDодукто6. К46до<у 87 пDодукто6 Eоот6етEт6уNт 
уEло68O 8EпKт4=8O (46то<4т8GеEк8 уEт4=46л864NтEO пD8 6K5оDе пDодукт4). �лO 
87<е=е=8O Eп8Eк4 пDодукто6 8 87<е=е=8O п4D4<етDо6 8EпKт4=89 отделL=KE пDодукто6 
Dуко6одEт6у9теEL оп8E4=8е<, д4==K< 6 � �ЛО����� �. 

4.5.1.2 �клNG8тL 4пп4D4т 6 Eоот6етEт688 E п.3.3. �4 д8Eплее ото5D478тEO MкD4=, пD86еде==K9 =4 
D8Eу=ке 9. 
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 8Eу=ок 9 – Ок=о «О68д4=8е» 

4.5.1.3 �K5D4тL =48<е=о64=8е 8EпKтуе<о7о пDодукт4 87 Eп8Eк4 пDодукто6. �Eл8 =ео5Eод8<о 
66еEт8 =о6K9 пDодукт, E<. � �ЛО����� �, « ед4кт8Dо64=8е Eп8Eк4 пDодукто6». �D8 
6K5оDе пDодукт4 46то<4т8GеEк8 74д4NтEO 4пп4D4то< <етод,  7Dупп4 8 =о<еD 4л7оD8т<4 
8EпKтуе<о7о пDодукт4. 

4.5.1.4 �лO <етод4 8EпKт4=8O � 6<еEто 7DуппK ук47K64етEO т8п 8EпKтуе<о7о пDодукт4. 
4.5.1.5  4EH8DDо6к4 8EпKтуе<KE пDодукто6 длO <етод4 8EпKт4=8O � д4=4 6 т45л8Fе 8. 

&45л8F4 8 –  4EH8DDо6к4 8EпKтуе<KE пDодукто6 длO <етод4 8EпKт4=8O � 

О5о7=4Gе=8е пDодукт4  4EH8DDо6к4 

� =еDтL 

�� п4D4D8=8Eт4O =еDтL 

&�� те<=K9 =еDтепDодукт 
 

4.5.1.6 �лO к46до7о пDодукт4 уEт4=о6ле=K EледуNI8е п4D4<етDK: 
4.5.1.6.1 �л7оD8т< пDед64D8телL=о7о =47Dе64 пDодукт4 

�л7оD8т< 1 по76олOет Dе7ул8Dо64тL те<пеD4туDу до =4G4л4 к8пе=8O путе< 87<е=е=8O <оI=оEт8 
=47Dе64телO GеDе7 опDеделе==ое 6Dе<O. �4==K9 4л7оD8т< пDедпол474ет =4EтDо9ку =4 ко=кDет=уN 
пDо5у. �екотоDKе Dе7улLт4тK D477о=к8 (6Dе<O до =4G4л4 к8пе=8O, 6Dе<O до 5% от7о=4) <о7ут =е 
поп4д4тL 6 допуEт8<K9 д84п47о= пD8 пD8<е=е=88 д4==о7о 4л7оD8т<4 к од=8< т8п4< =еDтепDо-
дукто6 E D47=о9 те<пеD4туDо9 =4G4л4 к8пе=8O. 
�олее подDо5=о о =4EтDо9ке п4D4<етDо6 �л7оD8т<4 1 ук474=о 6 � �ЛО����� �, EтD4=8F4 39. 

�4D4<етDK �л7оD8т<4 1: 
- P1: �еD64O <оI=оEтL =47Dе64телO, �т – <оI=оEтL =47Dе64телO, котоDуN =ео5Eод8<о поддеD68-
64тL 6 теGе=8е 6Dе<е=8 T1; 
- T1: �Dе<O пDодол68телL=оEт8 пеD68G=о7о =47Dе64 6 Eеку=д4E, E <оI=оEтLN P1; 
- P2: �тоD4O <оI=оEтL =47Dе64телO, �т – <оI=оEтL =47Dе64телO, котоDуN =ео5Eод8<о поддеD68-
64тL 6 теGе=8е 6Dе<е=8 T2; 

- T2: �Dе<O пDодол68телL=оEт8 6тоD8G=о7о =47Dе64 6 Eеку=д4E, E <оI=оEтLN P2; 

- P3: &DетLO <оI=оEтL =47Dе64телO, �т – <оI=оEтL =47Dе64телO, котоDуN =ео5Eод8<о поддеD68-
64тL 6 теGе=8е 6Dе<е=8 T3; 

- T3: �Dе<O пDодол68телL=оEт8 тDетLе7о =47Dе64 6 Eеку=д4E, E <оI=оEтLN P3. 

�л7оD8т< 2 по76олOет Dе7ул8Dо64тL те<пеD4туDу до =4G4л4 к8пе=8O по те<пеD4туDе 8EпKтуе<о7о 
пDодукт4, оD8е=т8DуOEL =4 пDедпол474е<уN те<пеD4туDу =4G4л4 к8пе=8O пDодукт4 8 о68д4е<ое 
6Dе<O до =4G4л4 к8пе=8O пDодукт4 6 кол5е. �4лее 4л7оD8т< 87<е=Oет <оI=оEтL =47Dе64телO (по-
=864ет 8л8 по6KH4ет) пD8<е=OO коMDD8F8е=т пDео5D47о64=8O <оI=оEт8. �4==K9 4л7оD8т< 
о5еEпеG864ет 46то<4т8GеEкое Eо5лNде=8е 6Dе<е=8 до =4G4л4 к8пе=8O 8 6Dе<е=8 до 5% от7о=4 
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длO д4==о7о т8п4 =еDтепDодукт4. �4==K9 4л7оD8т< O6лOетEO 5олее пDоEтK< 6 =4EтDо9ке коMDD8-
F8е=то6.  
�олее подDо5=о о =4EтDо9ке п4D4<етDо6 �л7оD8т<4 2 ук474=о 6 � �ЛО����� �. 

�4D4<етDK �л7оD8т<4 2: 
- Kp: КоMDD8F8е=т пDео5D47о64=8O <оI=оEт8 к �К – коMDD8F8е=т, =4 котоDK9 у<=о64етEO EDед-
=OO <оI=оEтL =47Dе64телO 74 пеD8од от =4G4л4 D477о=к8 до доEт86е=8O те<пеD4туDK пDодукт4 
7=4Gе=8O tN. �оI=оEтL поддеD6864етEO =е87<е==о9 до 0,5% от7о=4; 
- tN: &е<пеD4туD4 пDодукт4 6 кол5е (опDеделOетEO по опт8GеEко<у д4тG8ку) пD8 =4G4ле к8пе-
=8O,°!; 
- TN: О68д4е<ое 6Dе<O до =4G4л4 к8пе=8O пDодукт4 6 кол5е, Eек. 
4.5.1.6.2 О5I8е п4D4<етDK: 
- P: Ко=еG=4O <оI=оEтL =47Dе64телO поEле 93,5% от7о=4, �т – ко=еG=4O <оI=оEтL =47Dе64телO, ко-
тоDуN =ео5Eод8<о поддеD6864тL до ко=F4 к8пе=8O. 
- 'Dо6е=L ко=F4 к8пе=8O (КК), °! – 7=4Gе=8е, =4 котоDое дол6=4 уп4EтL те<пеD4туD4 п4Dо6 пDо-
дукт4 длO D8кE4F88 тоGк8 ко=F4 к8пе=8O (<4кE8<4лL=о9 те<пеD4туDK п4Dо6).  
- �4кE8<4лL=4O те<пеD4туD4 пDодукт4 °! – те<пеD4туD4, пD8 котоDо9 74к4=G864етEO D477о=к4. �E-
л8 Eто8т «0», то =47Dе6 5удет пDо876од8тLEO до опDеделе=8O те<пеD4туDK ко=F4 к8пе=8O.  
- &е<пеD4туD4 пD8е<=8к4, °! – те<пеD4туD=K9 д84п47о= пD8е<=8к4, по76олOет 74д464тL 5олее 
у7к89 д84п47о= поддеD64=8O те<пеD4туDK 6 пD8е<=8ке. 
4.5.1.7 �лO 87<е=е=8O Eп8Eк4 пDодукто6 8 87<е=е=8O п4D4<етDо6 8EпKт4=89 отделL=KE 

пDодукто6 Dуко6одEт6у9теEL оп8E4=8е<, д4==K< 6 � �ЛО����Я% �, �. 

4.5.1.8 �K5D4тL ок=о «(45ло= отGет4» (E<. D8Eу=ок 10). 

 
 8Eу=ок 10 – Ок=о «(45ло= отGет4» 

4.5.1.9 �Eл8 =ео5Eод8<о 87<е=8тL EодеD68<ое отGет4, E<. п.п. 4.6.1. 

4.5.1.10 �K5D4тL 8Eпол=8телO 87 Eп8Eк4. �Eл8 =ео5Eод8<о 66еEт8 =о6о7о 8Eпол=8телO, E<. 
� �ЛО����� �. 

4.5.2 �Dо6еде=8е 8EпKт4=8O 

В�И�А�ИЕ 
�Eл8 текуIее 7=4Gе=8е лN5о7о 87 д4тG8ко6 =е удо6лет6оDOет 74д4==о<у д84п47о=у, 7=4Gе=8O 
ото5D464NтEO кD4E=O< F6ето<, 8EпOт4=8е пDо6од8тP 74пDеI4етEO! 

4.5.2.1 �EпKт4=8O <о6=о пDо6од8тL пD8 уEло688, еEл8 текуI8е 7=4Gе=8O п4D4<етDо6 =4EодOтEO 
6 74д4==KE д84п47о=4E 6 Eоот6етEт688 E 6K5D4==K< <етодо< 8 7Dуппо9 8EпKтуе<о7о 
пDодукт4 (E<. D8Eу=ок 11). 
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 8Eу=ок 11 – Ок=о «О68д4=8е» 

4.5.2.2 �Eл8 =е 6клNGе= Dе68< теD<оEт4т8Dо64=8O 54=8 8 пD8е<=8к4, то =ео5Eод8<о е7о 
6клNG8тL =464т8е< к=опк8 «�4=O (6кл.)».  �оEле 6Eо6де=8O те<пеD4туDK 54=8 8 
те<пеD4туDK пD8е<=8к4 6 74д4==K9 д84п47о= =464тL к=опку «�EпKт4=8е». �пп4D4т 
=4G=ет D477о=ку пDодукт4 6 Eоот6етEт688 E 6K5D4==K< <етодо< 8 7Dуппо9. �Dо8EEод8т 
=47Dе6 кол5K E пDодукто< до =4G4л4 к8пе=8O.        

     

В�И�А�ИЕ 
�Eл8 8EпOт4=8е 6Oпол=OетEO по 1 7Dуппе, =ео5Eод8<о Gто5O те<пеD4туD4 окDу64NIе9 EDедO 
5Oл4 <е=ее 25°!. 

4.5.2.3 �о 6Dе<O пDо6еде=8O 8EпKт4=8O 6о7<о6е= пDоE<отD 8=DоD<4F88 6 тDеE ок=4E. 
4.5.2.3.1 Ок=о «�4D4<етDK» пD86еде=о =4 D8Eу=ке 12. 

 

 
 8Eу=ок 12 – Ок=о «�4D4<етDK» 

4.5.2.4 � Mто< ок=е 6K6одOтEO пок474=8O д4тG8ко6 8 о5Jе<4 от7о=4. 
4.5.2.4.1 Ок=о «'Eло68O» пD86еде=о =4 D8Eу=ке 13. 

 

 8Eу=ок 13 – Ок=о «'Eло68O» 
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4.5.2.5 � 7D4Dе «�4д4==K9 д84п47о=» ук474=K допуEт8<Kе 8=теD64лK длO 6K5D4==о7о <етод4 8 
7DуппK 8EпKт4=8O. 

4.5.2.6 � 7D4Dе «�7<еDе==ое 7=4Gе=8е» ук474=K <8=8<4лL=Kе 8 <4кE8<4лL=Kе 7=4Gе=8O 
д4тG8ко6 6о 6Dе<O 8EпKт4=8O. 

4.5.2.7 � 7D4Dе «&екуIее 7=4Gе=8е» ук474=K текуI8е 7=4Gе=8O д4тG8ко6 6о 6Dе<O 8EпKт4=8O. 
4.5.2.8 � поле «�Dе<O до �К, <8=» D8кE8DуетEO 6Dе<O от =4G4л4 =47Dе64 до п4де=8O пеD6о9 

к4пл8 E =86=е7о ко=F4 ко=де=E4тоD4. 
4.5.2.9 � поле «�Dе<O от �К до =4G. от7о=4, Eек» D8кE8DуетEO 6Dе<O от =4G4л4 к8пе=8O до 

полуGе=8O 5% от7о=4. 
4.5.2.10 � поле «!коDоEтL от7о=4, <л/<8=» 87<еDOетEO поEтоO==4O EDед=OO EкоDоEтL пеDе7о=к8 

от7о=4 (<л/<8=) 6 д84п47о=е от 5% от7о=4 до полуGе=8O 93,5% (�О!&   �� �!О 3405, ASTM 

D86) 8л8 95% (�О!& 2177). 
4.5.2.11 � поле «�Dе<O от ко=. от7о=4 до КК, <8=» D8кE8DуетEO 6Dе<O пеDе7о=к8 от 93,5% (�О!&   

�� �!О 3405, ASTM D86) 8л8 95% (�О!& 2177) от7о=4 до ко=F4 к8пе=8O. 
4.5.2.11.1 Ок=о «ОтGет» пD86еде=о =4 D8Eу=ке 14. 

 

 8Eу=ок 14 – Ок=о «ОтGет» 

� ок=е «ОтGет» D8кE8DуNтEO EледуNI8е п4D4<етDK: &�К – те<пеD4туD4 =4G4л4 к8пе=8O, о5Jе< 
от7о=4, &КК – те<пеD4туD4 ко=F4 к8пе=8O, & D47ло6е=8O – те<пеD4туD4 D47ло6е=8O, & 6Kп4D864-
=8O – те<пеD4туD4 6Kп4D864=8O, о5Jе<, &е<пеD4туD4. 
�D8 доEт86е=88 93,5% (�О!&   �� �!О 3405, ASTM D86) 8л8 95% (�О!& 2177) о5Jе<4 от7о=4 Eт4=о-
6OтEO 4кт86=K<8 ок=4 «�4п8E4тL & D47ло6е=8O», пD8 =464т88 котоDо9 текуIее 7=4Gе=8е те<пе-
D4туDK D8кE8DуетEO 6 отGете. 

�о6=о пDоE<отDетL 7D4D8к EкоDоEт8 от7о=4 (пD8 =464т88 к=опк8 «�D4D8к EкоDоEт8») 8 кD86уN 
D477о=к8. 
�D4D8к EкоDоEт8 от7о=4 пD86еде= =4 D8Eу=ке 15. 

 

 8Eу=ок 15 – �D4D8к EкоDоEт8 от7о=4 

�DоE<отD кD86о9 D477о=к8 пD8 =464т88 к=опк8 «КD864O D477о=к8» (E<. D8Eу=ок 16). 
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 8Eу=ок 16 – �DоE<отD кD86о9 D477о=к8 

�D8 у<е=LHе=88 те<пеD4туDK п4Dо6 пDодукт4 =86е <4кE8<4лL=о9 те<пеD4туDK =4 74д4==K9 по-
Dо7 =47Dе6 пDекD4I4етEO, 8 <4кE8<4лL=4O те<пеD4туD4 D8кE8DуетEO к4к те<пеD4туD4 ко=F4 к8пе-
=8O (пD8 ото7=4==о< о5JU<е E6KHе 93,5% (�О!&   �� �!О 3405, ASTM D86) 8л8 95% (�О!&2177) 
8л8 к4к те<пеD4туD4 D47ло6е=8O (пD8 ото7=4==о< о5JU<е =е 5олее 93,5% (�О!&   �� �!О 3405, 

ASTM D86) 8л8 95%(�О!&2177). 
�оEле то7о к4к EкоDоEтL у6ел8Gе=8O о5Jе<4 6 <еD=о< F8л8=дDе 74 2 <8=утK EоEт468т <е=ее 0,1 
<л, 4пп4D4т пеDеEод8т к 87<еDе=8N оEт4тк4 (E<. п. 4.5.2.12). 

4.5.2.12 �7<еDе=8е о5Jе<4 оEт4тк4 

 
 8Eу=ок 17 – Ок=о «�7<еDе=8е оEт4тк4» 

�ео5Eод8<о до6д4тLEO пок4 оEтK=ет кол54, 876леGL <еD=K9 F8л8=дD 87 пD8е<=8к4, у5D4тL к4п-
леот5о9=8к 87 F8л8=дD4 8 пеDел8тL оEт4ток пDодукт4 87 кол5K 6 <еD=K9 F8л8=дD.  
'Eт4=о68тL <еD=K9 F8л8=дD т4к, Gто5K =86=89 ко=еF тDу5к8 ко=де=E4тоD4 ок474лEO 6=утD8 <еD-
=о7о F8л8=дD4. ОE=о64=8е F8л8=дD4 дол6=о уп8D4тLEO 6 Hт8DтK.  8Eк8 (10 8 100 <л) дол6=K 
5KтL о5D4Iе=K 6пеDUд.  К4плеот5о9=8к =е уEт4=46л864тL.  
�464тL к=опку «�7<еD8тL». �пп4D4т 87<еD8т оEт4ток 8 пеDе9дет к ото5D46е=8N Dе7улLт4т4 8E-
пKт4=8O. 
� EлуG4е DуG=о7о 87<еDе=8O 66еEт8 оEт4ток 6DуG=уN. 
4.6 О5D45отк4 Dе7улLт4то6 8EпKт4=8O 

4.6.1  е7улLт4т 8EпKт4=8O 

4.6.1.1 �4EодOEL 6 ок=е «О68д4=8е» =464тL к=опку « е7улLт4т». �4 д8Eпле9 6K6од8тEO 
поEлед=89 Dе7улLт4т 8EпKт4=8O. 

4.6.1.2 Ок=о «�4D4<етDK» пD86еде=о =4 D8Eу=ке 18. 
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 8Eу=ок 18 – Ок=о «�4D4<етDK» 

� ок=е «�4D4<етDK» ук474=K <етод 8 7Dупп4 8EпKт4=8O, =4764=8е пDодукт4, 4т<оEDеD=ое д46ле-
=8е, те<пеD4туD4 окDу64NIе9 EDедK, 6Dе<O 8 д4т4 746еDHе=8O 8EпKт4=8O, D4<8л8O 8Eпол=8те-
лO. 
4.6.1.3 �D4D8к EкоDоEт8 от7о=4 ото5D464етEO пD8 =464т88 к=опк8 «�D4D8к EкоDоEт8». 

�D4D8к EкоDоEт8 от7о=4 пD86еде= =4 D8Eу=ке 19. 

 
 8Eу=ок 19 – �D4D8к EкоDоEт8 от7о=4 

�DоE<отD кD86о9 D477о=к8 пD8 =464т88 к=опк8 «КD864O D477о=к8» (E<. D8Eу=ок 20). 

 

 
 8Eу=ок 20 – �DоE<отD кD86о9 D477о=к8 

4.6.1.4 �оддеD64=8е 4пп4D4то< уEло689 пDо6еде=8O 8EпKт4=8O, 74д4==KE 6 <етод4E (п.3 
т45л8FK 1 �О!& 2177, 6 т45л8Fе 3 �О!&   �� �!О 3405 8 6 т45л8Fе 5 ASTM D86) 6о7<о6=о 
пDоE<отDетL, 6K5D46 ок=о «'Eло68O» (E<. D8Eу=ок 21). 
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 8Eу=ок 21 – Ок=о «'Eло68O» 

!п8Eок EодеD68т EледуNI8е по78F88: те<пеD4туD4 оEл46д4NIе9 68дкоEт8 6 Eолод8лL=8ке; 
те<пеD4туD4 EDедK, окDу64NIе9 <еD=K9 F8л8=дD; 6Dе<O от <о<е=т4 =47Dе64=8O до =4G4л4 к8-
пе=8O; 6Dе<O от =4G4л4 к8пе=8O до полуGе=8O 5% от7о=4; EкоDоEтL пеDе7о=к8 от 5% от7о=4 до 
93,5% (�О!& 2177) 8л8 до 95% (�О!&   �� �!О 3405, ASTM D86); 6Dе<O от 93,5% (�О!& 2177) 8л8 от 
95% (�О!&   �� �!О 3405, ASTM D86) от7о=4 до ко=F4 к8пе=8O. 
� 7D4Dе «�4д4==K9 д84п47о=» ук474=K допуEт8<Kе д84п47о=K длO Eоот6етEт6уNIе7о <етод4 8 
7DуппK 8EпKт4=8O. 
� 7D4Dе «�45лNд4е<ое 7=4Gе=8е» ук474=K уEло68O, 74D8кE8Dо64==Kе 6о 6Dе<O 8EпKт4=8O. �Eл8 
7=4Gе=8O 6KделONтEO кD4E=K< F6ето<, то Mто о7=4G4ет, Gто о=8 =е Eоот6етEт6уNт 74д4==о<у д84-
п47о=у длO Eоот6етEт6уNIе7о <етод4 8 7DуппK 8EпKт4=8O. 
4.6.1.5 Ок=о «ОтGет» пD86еде=о =4 D8Eу=ке 22. 

 

 8Eу=ок 22 – Ок=о «ОтGет» 

� отGете ук47K64NтEO: коDDект8Dо6к4 =4 д46ле=8е, Eоот=оHе=8е (те<пеD4туD4↔6Kп4D864=8е 
8л8 те<пеD4туD4↔от7о=); тоGк8 от7о=4, по котоDK< Eледует пок47K64тL 87<еDе=8O (&�К, о5Jе<, 
те<пеD4туD4, &КК, те<пеD4туD4 6Kп4D864=8O, те<пеD4туD4 D47ло6е=8O). 

� И�ЕЧА�ИЯ 

1. �ок474=8O те<пеD4туD Eоот6етEт6уNт пок474=8O< Dтут=OE теD<о<етDо6, пD8<е=Oе<OE 
длO д4==о7о <етод4 8EпOт4=8O 8 7DуппO (6=оE8тEO попD46к4 =4 74п47дO64=8е 8 6OEтуп4N-
I89 Eтол58к Dтут8). 

2. �опD46к4 7=4Gе=89 те<пеD4туD =4 Eт4=д4Dт=ое 4т<оEDеD=ое д46ле=8е 760 << Dт.Eт. 

6=оE8тEO, еEл8 длO 8EпOт4==о7о пDодукт4 д4==4O опF8O 6клNGе=4. 

�Eл8 =ео5Eод8<о 87<е=8тL Eоот=оHе=8е (те<пеD4туD4↔6Kп4D864=8е 8л8 те<пеD4туD4↔от7о=) 
8л8 п4D4<етD (&�К, о5Jе<, те<пеD4туD4, &КК, те<пеD4туD4 6Kп4D864=8O, те<пеD4туD4 D47ло6е-
=8O), то =464тL к=опку « ед4кт8Dо64тL отGет». �4 д8Eплее ото5D478тEO MкD4=, пD86еде==K9 =4 
D8Eу=ке 23. 
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 8Eу=ок 23 

К=опк4 «�о5468тL 6 отGет» - до5468тL 6Kделе==K9 п4D4<етD 87 т45л8FK Eле64 6 т45л8Fу EпD464 
(EодеD68<ое отGет4). 
К=опк4 «�EклNG8тL 87 отGет4» - уд4л8тL 87 отGет4 п4D4<етD, 6Kделе==K9 6 пD46о9 т45л8Fе. 
К=опк4 «�о у<олG4=8N» - уEт4=о68тL 6 пD46о9 т45л8Fе п4D4<етDK 8 7=4Gе=8O, ук474==Kе длO <е-
тод4 8 7DуппK, котоDKе 6K5D4=K 6 Dе68<е о68д4=8O. 
�оEле Dед4кт8Dо64=8O отGет4 =464тL к=опк8 «КоDDект8Dо6к4 =4 Eт4=д4Dт=ое д46ле=8е», «�D8-
<е=8тL». 

4.6.1.6 Ок=о «�4EтDо9к8» пD86еде=о =4 D8Eу=к4E 24, 25. 

1) � EлуG4е 8EполL7о64=8O 4л7оD8т<4 №1: 

 

 8Eу=ок 24 – Ок=о «�4EтDо9к8» (�л7оD8т< №1) 
К пDодукту пD86O74=K EледуNI8е п4D4<етDK 8EпKт4=8O: 
- P1: �еD64O <оI=оEтL =47Dе64телO, �т; 
- T1: �Dодол68телL=оEтL пеD6о7о =47Dе64, Eек; 
- P2: �тоD4O <оI=оEтL =47Dе64телO, �т; 
- T2: �Dодол68телL=оEтL 6тоDо7о =47Dе64, Eек; 
- P3: &DетLO <оI=оEтL =47Dе64телO, �т; 
- T3: �Dодол68телL=оEтL тDетLе7о =47Dе64, Eек; 
- P: Ко=еG=4O <оI=оEтL =47Dе64телO поEле 93,5% от7о=4, �т; 
- 'Dо6е=L ко=F4 к8пе=8O, °!; 
- �оDо7 опDеделе=8O EуEо9 тоGк8 (6Kп4D864=8O), ед. 
2) � EлуG4е 8EполL7о64=8O 4л7оD8т<4 №2: 
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 8Eу=ок 25 – Ок=о «�4EтDо9к8» (�л7оD8т< №2) 

К пDодукту пD86O74=K EледуNI8е п4D4<етDK 8EпKт4=8O: 
- Kp: КоMDD8F8е=т пDео5D47о64=8O <оI=оEт8 к �К; 
- tN: &е<пеD4туD4 пDодукт4 пD8 =4G4ле к8пе=8O, °!; 
- TN: О68д4е<ое 6Dе<O до =4G4л4 к8пе=8O, Eек; 
- P: Ко=еG=4O <оI=оEтL =47Dе64телO поEле 93,5% от7о=4, �т; 
- 'Dо6е=L ко=F4 к8пе=8O, °!; 
- �оDо7 опDеделе=8O EуEо9 тоGк8 (6Kп4D864=8O), ед. 

К=опк8:  - �еDеEод к пDоE<отDу EледуNIе7о (пDедKдуIе7о) 8EпKт4=8O.  
4.6.2 �K6од Dе7улLт4то6 =4 пеDEо=4лL=K9 ко<пLNтеD под упD46ле=8е< Линтел®  Л��К 

�пп4D4т оE=4IU= пDо7D4<<=о-4пп4D4т=K<8 EDедEт64<8 длO поддеD6к8 подE8Eте<K 5еEпDо6од-
=о7о 8=теDDе9E4 (���)1. 

�оEле уEт4=о6к8 Л45оD4тоD=о9 �=DоD<4F8о==о9 !8Eте<K ЛинтеЛ® Л��К =4 пеDEо=4лL=K9 ко<-
пLNтеD =ео5Eод8<о подклNG8тL 4=те==у, 4 т4к6е =4EтDо8тL п4D4<етDK ��� 4пп4D4т4 Eо7л4E=о 
п.4.10.6. 

�оEле 746еDHе=8O 8EпKт4=8O Dе7улLт4тK 46то<4т8GеEк8 пеDед4NтEO 6 547у д4==KE ЛинтеЛ® 

Л��К, Gто упDоI4ет доEтуп к д4==K< 8 7D4D8к4<, по76олOет по6KE8тL к4GеEт6о D45отK, 4 т4к6е 
87546лOет от 5олLH8=Eт64 Dут8==KE опеD4F89. 
4.7 �46еDHе=8е D45отK 

4.7.1 �KклNG8тL 4пп4D4т =464т8е< к=опк8 6клNGе=8O 4пп4D4т4, опуEт8тL 6=87 DKG47 упD46ле=8O 
46то<4т8GеEко7о 6KклNG4телO, 6K=утL 68лку 87 Eете6о9 Dо7етк8. 

4.8 �еDеGе=L 6о7<о6=KE =е8EпD46=оEте9 

�8дK =е8EпD46=оEте9 8 <етодK 8E уEтD4=е=8O пD86еде=K 6 т45л8Fе 9. 

&45л8F4 9 – �8дK =е8EпD46=оEте9 8 <етодK 8E уEтD4=е=8O 

�еDоOт=4O пD8G8=4  еко<е=д4F88 8 <етодK уEтD4=е=8O 

�пп4D4т 6клNGе= 6 EетL, отEутEт6ует 8=д8к4F8O =4 F8DDо6о< т45ло. 
�еDе7оDел8 пDедоED4=8тел8. �4<е=8тL пDедоED4=8тел8. 

&е<пеD4туD4 54=8 (пD8е<=8к4) =е 6KEод8т =4 74д4==K9 Dе68<. 
ОтEутEт6ует тепло=оE8телL. �Dо6еD8тL =4л8G8е тепло=оE8телO. 

�KEок4O те<пеD4туD4 пD8е<=8к4. 
ОткDKт4 д6еDF4 пD8е<=8к4. �4кDKтL д6еDFу, по6тоD8тL д8Eт8ллOF8N. 

                                                      
1 �оEт46лOетEO по отделL=о<у 74к47у. 
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�еDоOт=4O пD8G8=4  еко<е=д4F88 8 <етодK уEтD4=е=8O 

ОEт4=о6к4 8EпKт4=8O E Dе78EтD4F8е9 D47ло6е=8O. 
�4л8G8е 6одK 6 пDодукте. О5е76од8тL пDо5у. 

�4де=8е те<пеD4туDK п4Dо6 пD8 
д8Eт8ллOF88 5олее Gе< =4 7=4-
Gе=8е «'Dо6е=L ко=F4 к8пе=8O 
(КК)», °!. 

'6ел8G8тL 7=4Gе=8е «'Dо6е=L ко=F4 к8пе=8O (КК)», °!. 
 еко<е=дуетEO: 
- длO 7DуппK 1 «'Dо6е=L ко=F4 к8пе=8O (КК)» = 4°!; 
- длO 7Dупп 2-4  «'Dо6е=L ко=F4 к8пе=8O (КК)» = 2°!. 
 

�о6KHе=8е те<пеD4туDK п4Dо6 пDодукт4 6 ко=Fе д8Eт8ллOF88  
5е7 Dе78EтD4F88 ко=F4 к8пе=8O. 

'6ел8Gе==ое 7=4Gе=8е п4D4<ет-
D4  
«'Dо6е=L ко=F4 к8пе=8O (КК)», 

°!. 

'<е=LH8тL 7=4Gе=8е «'Dо6е=L КК:». 

 еко<е=дуетEO: 
- длO 7DуппK 1 «'Dо6е=L ко=F4 к8пе=8O (КК)» = 4°!; 
- длO 7Dупп 2-4 «'Dо6е=L ко=F4 к8пе=8O (КК)» = 2°!. 
 

�одEт46к4 кол5K E от6еDEт8е< 
ø50. 

�4<е=8тL =4 подEт46ку кол5K E от6еDEт8е< ø38 8 по6тоD8тL 
д8Eт8ллOF8N. 
 

�Dе6KHе=8е 6Dе<е=8 =47Dе64 до =4G4л4 к8пе=8O. 
�Dе6KHе=8е 6Dе<е=8 от =4G4л4 к8пе=8O до от7о=4 5%. 

�о=86е==4O EкоDоEтL 6 =4G4ле д8Eт8ллOF88. 

�еплот=4O поE4дк4 кол5K 6 от-
6еDEт8е подEт46к8. 

�е 745KтL под=OтL =47Dе64телL пеDед =4G4ло< 8EпKт4=8O. 
�о6тоD8тL д8Eт8ллOF8N, пD8 Mто< уEт4=о68тL кол5у 6 от6еD-
Eт8е E <8=8<4лL=K< 747оDо<. 

�Dодукт =е Eоот6етEт6ует 7Dуппе. �Dо6еEт8 д8Eт8ллOF8N E 74д4=8е< пD468лL=о9 7DуппK. 

�87к4O <оI=оEтL =47Dе64телO. 

�Eл8 6K5D4= 4л7оD8т< 1, у6ел8G8тL пеD68G=уN <оI=оEтL 
=47Dе64телO (P1) =4 10�т 8 по6тоD8тL д8Eт8ллOF8N (E<. � �-
ЛО����� �). 

�о=86е==4O EкоDоEтL 6 ко=Fе д8Eт8ллOF88. 
�4=86е==Kе пок474=8O те<пеD4туDK ко=F4 к8пе=8O. 

О5Jе< оEт4тк4 6 кол5е 5олLHе о68д4е<о7о. 
�еDе7=4==K9 о5Jе< <е=LHе о68д4е<о7о. 

�еплот=4O поE4дк4 кол5K 6 от-
6еDEт8е подEт46к8. 

�е 745KтL под=OтL =47Dе64телL пеDед =4G4ло< 8EпKт4=8O. 
�о6тоD8тL д8Eт8ллOF8N, пD8 Mто< уEт4=о68тL кол5у 6 от6еD-
Eт8е E <8=8<4лL=K< 747оDо<. 

�одEт46к4 кол5K E от6еDEт8е< 
ø38 . 

�4<е=8тL =4 подEт46ку кол5K E от6еDEт8е< ø50 8 по6тоD8тL 
д8Eт8ллOF8N. 

 4==ее =4G4ло к8пе=8O. �KEтDое к8пе=8е до от7о=4 5%. 
�о6KHе==4O EкоDоEтL 6 =4G4ле д8Eт8ллOF88. 

�о6KHе==4O 8EEод=4O те<пеD4-
туD4 пDодукт4. 

�од7ото68тL пDодукт Eо7л4E=о <етоду 8EпKт4=8O 8 Eт4=д4Dту 
=4 пDодукт. 

�Dодукт =е Eоот6етEт6ует 7Dуппе. �Dо6еEт8 д8Eт8ллOF8N E 74д4=8е< пD468лL=о9 7DуппK. 

�KEок4O <оI=оEтL =47Dе64телO. 

�Eл8 6K5D4= 4л7оD8т< 1, у<е=LH8тL пеD6уN <оI=оEтL 
=47Dе64телO (P1) =4 10�т 8 по6тоD8тL д8Eт8ллOF8N (E<. � �-
ЛО����� �). 
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�еDоOт=4O пD8G8=4  еко<е=д4F88 8 <етодK уEтD4=е=8O 

�4л8G8е пле=к8 =еDтепDодукт4 
=4 6=утDе==е9 Eте=ке F8л8=дD4 6 
7о=е к4плеот5о9=8к4. 

�DотеDетL EлопG4то5у<46=о9 E4лDетко9 <еD=K9 F8л8=дD 
к4к E=4Dу68, т4к 8 E 6=утDе==е9 EтоDо=K (от 6еDE=е9 кDо<к8 
F8л8=дD4 до D8Eк8 100<л). 

�46KHе==Kе пок474=8O те<пеD4туDK ко=F4 к8пе=8O. 
О5Jе< оEт4тк4 6 кол5е <е=LHе о68д4е<о7о.  47ло6е=8е пDодукт4. 

�одEт46к4 кол5K E от6еDEт8е< 
ø50. 

�4<е=8тL =4 подEт46ку кол5K E от6еDEт8е< ø38 8 по6тоD8тL 
д8Eт8ллOF8N. 
 

�олLH8е потеD8 6 Eоде д8Eт8ллOF88. 

�о6KHе==4O 8EEод=4O те<пеD4-
туD4 пDодукт4. 

�од7ото68тL пDодукт Eо7л4E=о <етоду 8EпKт4=8O 8 Eт4=д4Dту 
=4 пDодукт. 
 

�еплот=4O 7еD<ет874F8O Eоед8-
=е=89 пDо5ко9 7оDло68=K 8 от-
6од4 кол5K. 

�о6тоD8тL д8Eт8ллOF8N E плот=о 74кDKто9 пDо5ко9 7оDло-
68=K кол5K 8 плот=о уEт4=о6ле==о9 6 ко=де=E4тоD=уN тDу5-
ку пDо5ко9 от6од4. 
 

&е<пеD4туD4 пD8е<=8к4 (оEл4-
6д4NIе9 54=8) 6KHе допуEт8-
<о9 те<пеD4туDK. 
 

�Dо6еD8тL Eоот6етEт68е 7DуппK пDодукту. 
�Dо6еD8тL Eоот6етEт68е тDе5уе<о9 те<пеD4туDK 7Dуппе. 
 

�Eп4Dе=8е д8Eт8ллOт4 87 <еD=о-
7о F8л8=дD4 6 Eоде 8EпKт4=8O. 

�лот=о пD8кDKтL 7оDлKHко <еD=о7о F8л8=дD4 уплот=8те-
ле<, куEко< D8лLтDо64лL=о9 5у<478, 8л8 дDу78< 4=4ло78G-
=K< <4теD84ло<. 
 

�оEEт4=о6ле==K9 от7о= 5олLHе 74л8то7о 6 <еD=K9 F8л8=дD до 8EпKт4=8O. 

ОEт4тк8 пDедKдуIе9 д8Eт8ллO-
F88 8 ко=де=E4т 6 ко=де=E4тоD-
=о9 тDу5ке. 

ОG8I4тL тDу5ку поEле к46до7о 8EпKт4=8O. 
�епоEDедEт6е==о пеDед пDо6еде=8е< 8EпKт4=8O уд4л8тL 
ко=де=E4т 87 тDу5к8 пDоду6ко9 E64тK< 6о7дуEо< 8л8 по-
6тоD=о9 пDот8Dко9. 
 

 47л8G4NтEO те<пеD4туDK 74л8-
то7о 6 <еD=K9 F8л8=дD до 8EпK-
т4=8O пDодукт4 8 ото7=4==о7о. 
 

&е<пеD4туD4 пDо5K пеDед 8EпKт4=8е< дол6=4 Eо6п4д4тL E 
те<пеD4туDо9 ото7=4==о7о пDодукт4. 

�о6KHе==4O 6л46=оEтL окDу64-
NIе9 EDедK. 

'Eт4=о68тL 4пп4D4т 6 по<еIе=8е E по=86е==K< уDо6=е< 
6л46=оEт8. 
�лот=о пD8кDKтL 7оDлKHко <еD=о7о F8л8=дD4 уплот=8те-
ле<, куEко< D8лLтDо64лL=о9 5у<478 8л8 дDу78< 4=4ло78G-
=K< <4теD84ло<. 
 

�оEтоO==4O D47=оEтL, D46=о<еD=ое у6ел8Gе=8е 8л8 у<е=LHе=8е  
D47=оEт8 <е6ду пок474=8O<8 ото7=4==о7о о5Jе<4 =4 д8Eплее 8 =45лNд4е<K< о5Jе<о< 6 

<еD=о< F8л8=дDе. 

�еDекоE <еD=о7о F8л8=дD4 6 
пD8е<=8ке. 

ОE=о64=8е F8л8=дD4 дол6=о пD8ле74тL к о5е8< (ле6о9 8 
74д=е9) Eте=к4< =86=е9 опоDK. �еD=K9 F8л8=дD дол6е= к 
пD8ле74тL к о5е8< Eте=к4< 6еDE=е9 опоDK, 4 т4к6е дол6е= 
5KтL пD864т к опоD4< 7468<о<. �од <еD=K< F8л8=дDо< =е 
дол6=K =4Eод8тLEO поEтоDо==8е пDед<етK. 
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�еDоOт=4O пD8G8=4  еко<е=д4F88 8 <етодK уEтD4=е=8O 

�Dо876еде=4 74<е=4 <еD=о7о 
F8л8=дD4. 
 

�Dо876еEт8 к4л85Dо6ку 87<еD8телO о5JU<4 (E< п. 5.8). 

�еD46=о<еD=4O D47=оEтL <е6ду пок474=8O<8 ото7=4==о7о о5Jе<4 =4 д8Eплее 8 =45лNд4е-
<K< о5Jе<о< 6 <еD=о< F8л8=дDе. 

К4пл8 87 ко=де=E4тоD=о9 тDу5к8 
п4д4Nт =епоEDедEт6е==о =4 <е-
=8Eк пDодукт4, <8=уO к4плеот-
5о9=8к. 

'Eт4=о68тL к4плеот5о9=8к т4к, Gто5K пDодукт Eтек4л по Eте=-
ке <еD=о7о F8л8=дD4. 

К4пл8 =4 6=утDе==8E Eте=к4E 
<еD=о7о F8л8=дD4. �ккуD4т=о пеDе=оE8тL пDодукт 87 <еD=о7о F8л8=дD4 6 кол5у. 

�еDекоE <еD=о7о F8л8=дD4 6 
пD8е<=8ке 8 к4E4=8е к4Dетк8. 

ОE=о64=8е F8л8=дD4 дол6=о пD8ле74тL к уEт4=о6оG=K< 
Hт8Dт4<. �еD=K9 F8л8=дD =е дол6е= к4E4тLEO д4тG8к4 к4п-
леп4де=8O 8 д4тG8к4 87<еD8телO о5Jе<4. �од <еD=K< F8-
л8=дDо< =е дол6=K =4Eод8тLEO поEтоDо==8е пDед<етK. 

К4пл8 =4 =4Dу6=KE Eте=к4E <еD-
=о7о F8л8=дD4. �DотеDетL <еD=K9 F8л8=дD E=4Dу68. 

 4EEо6де=8е пок474=89 те<пеD4туDK E те<пеD4туDо9 к8пе=8O Mт4ло==KE пDодукто6 пD8 Eт4=-
д4Dт=о< д46ле=88.  

Эт4ло==K9 пDодукт =е Eоот-
6етEт6ует п4EпоDт=K< д4==K<. �Dо6еD8тL п4EпоDт=Kе д4==Kе =4 Mт4ло==K9 пDодукт. 

�о7DеH=оEтL д4тG8к4 те<пеD4ту-
DK 6KHе, Gе< ук474=о 6 п. 2.2.3. 

�Dо876еEт8 к4л85Dо6ку д4тG8к4 те<пеD4туDK 6 Eоот6етEт688 
E п. 5.6. 

�D8 дDу78E 68д4E =е8EпD46=оEт8 =ео5Eод8<о о5D4т8тLEO =4 пDедпD8Oт8е-877ото68телL. 
4.9 �е9Eт68O 6 MкEтDе<4лL=KE E8ту4F8OE 

�D8 поп4д4=88 68дкоEте9 8л8 поEтоDо==8E пDед<ето6 6=утDL 4пп4D4т4 =ео5Eод8<о: 
1) 6KклNG8тL 4пп4D4т =464т8е< к=опк8 6клNGе=8O 4пп4D4т4; 

2) опуEт8тL 6=87 DKG47 упD46ле=8O 46то<4т8GеEко7о 6KклNG4телO; 
3) 6K=утL 68лку 87 Eете6о9 Dо7етк8; 
4) E=OтL 74I8т=K9 ко6уE; 
5) уд4л8тL 68дкоEтL 8л8 поEтоDо==8е пDед<етK; 
6) уEт4=о68тL ко6уE =4 <еEто. 

� И�ЕЧА�ИЕ 
�лO уд4ле=8O 68дкоEт8 Dеко<е=дуетEO 8EполP7о64тP E64тO9 6о7дуE. Че< 5OEтDее 5удет 
уд4ле=4 68дкоEтP, те< 5олPHе 6еDоOт=оEтP EоED4=е=8O D45отоEпоEо5=оEт8 4пп4D4т4. �оEле 
уд4ле=8O 68дкоEт8 4пп4D4т 6OдеD64тP =е <е=ее 16 G4Eо6 пеDед по6тоD=O< 6клNGе=8е<. 

4.10 �Eпо<о74телL=Kе Dу=кF88 

4.10.1 �4д4=8е уEло689 8EпKт4=89 длO пDодукто6 

4.10.1.1  45от4 Eо Eп8Eко< пDодукто6 

4.10.1.2 �лO 87<е=е=8O 8л8 Eо7д4=8O =о6о7о =48<е=о64=8O пDодукт4 Dуко6одEт6у9теEL 
оп8E4=8е<, д4==K< 6 � �ЛО����� �. 

4.10.1.3 �7<е=е=8е Eп8Eк4 тоGек от7о=4 8л8 6Kп4D864=8O 

4.10.1.4 �7<е=е=8е Eп8Eк4 тоGек от7о=4 8л8 6Kп4D864=8O 6 Eоот6етEт688 E п.4.6.1. 

4.10.1.5 �7<е=е=8е Eп8Eк4 8Eпол=8теле9 

4.10.1.6 �лO 87<е=е=8O 8л8 Eо7д4=8O =о6о7о Eп8Eк4 8Eпол=8теле9 Dуко6одEт6у9теEL оп8E4=8е<, 
д4==K< 6 � �ЛО����� �. 
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4.10.2 !лу6е5=ое <е=N 

�оEтуп к Dе68<4< пDо6еDк8, к4л85Dо6к8, о5Eлу6864=8O пDоE<отD4 8=DоD<4F88 о5 4пп4D4те, 4 
т4к6е =4EтDо9к8 4пп4D4т4 оEуIеEт6лOетEO пD8 по<оI8 Eлу6е5=о7о <е=N. 
�Eл8 6 Dе68<е о68д4=8O =464тL к=опку  «�е=N», 4пп4D4т пеDеEод8т 6 Dе68< <е=N (E<. D8Eу=ок 
26). 

 
 8Eу=ок 26 – Ок=о «�е=N» 

4.10.3  е68< пDо6еDк4 8 к4л85Dо6к4 

�Eл8 пок474=8O 87<еD8телO о5JU<4 4пп4D4т4 =е Eоот6етEт6уNт D4кт8GеEко<у о5JU<у пDодукт4 
(=4пD8<еD, поEле 74<е=K <еD=о7о F8л8=дD4), =ео5Eод8<о пDо876еEт8 к4л85Dо6ку 87<еD8телO 
о5JU<4 (E<. п.5.8). 

4.10.4 �Eл8 6 пDоFеEEе MкEплу4т4F88 4пп4D4т4 о5=4Dу68лоEL, Gто пок474=8O д4тG8к4 4т<оEDеD=о-
7о д46ле=8O отл8G4NтEO от пок474=89 о5D47Fо6о7о 54Dо<етD4, EуIеEт6ует 6о7<о6=оEтL под-
EтDо9к8 пок474=89 6EтDое==о7о д4тG8к4 4т<оEDеD=о7о д46ле=8O (E<. п.5.7). 

�Eл8 пок474=8O д4тG8к4 те<пеD4туDK п4Dо6 4пп4D4т4 =е Eоот6етEт6уNт пок474=8O< о5D47Fо6о7о 
д4тG8к4 те<пеD4туDK, =ео5Eод8<о пDо876еEт8 к4л85Dо6ку 87<еD8телO те<пеD4туDK п4Dо6 пDо-
дукт4 (E<. п.5.3) 

4.10.5  е68< «О5Eлу6864=8е» 

� Dе68<е о68д4=8O =464тL к=опку «�е=N» 8 6K5D4тL пу=кт <е=N «О5Eлу6864=8е». �4 д8Eплее 
поO68тEO MкD4=, пок474==K9 =4 D8Eу=ке 27. 

 

 
 8Eу=ок 27 – �е=N «О5Eлу6864=8е» 

�D4D4 «�46одEк8е =4EтDо9к8»: 
� �Dуппе «�46одEк8е =4EтDо9к8» =464тL к=опку «�оEEт4=о68тL». �D8 Mто< поO68тEO ок=о 74пDоE4, 
пок474==ое =4 D8Eу=ке 28. 
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 8Eу=ок 28 – Ок=о 74пDоE4 

�D8 =464т88 к=опк8 «�Kпол=8тL», текуI8е =4EтDо9к8 4пп4D4т4 5удут 74<е=е=K =4EтDо9к4<8, 
6KEт46ле==K<8 =4 пDедпD8Oт88 – 877ото68теле. 
�D8 =464т88 к=опк8 «От<е=8тL» ок=о 74пDоE4 74кDK64етEO 5е7 6Kпол=е=8O 74<е=K =4EтDоек. 

В�И�А�ИЕ 
�Oпол=OтP толPко по Dеко<е=д4F88 746од4-877ото68телO. 

4.10.6  е68< «�4D4<етDK 4пп4D4т4» 

4.10.6.1 � Dе68<е о68д4=8O =464тL к=опку «�е=N» 8 6K5D4тL пу=кт <е=N «�4D4<етDK 
4пп4D4т4». �4 д8Eплее поO68тEO MкD4=, пD86еде==K9 =4 D8Eу=ке 29. 

 
 8Eу=ок 29 – Ок=о «�4D4<етDK» 

4.10.7 �D4D4 «�4т4 8 6Dе<O»: поDOдок уEт4=о6к8 д4тK 8 6Dе<е=8 E<. 6 � �ЛО����� �, EтD4=8F4 
34, « ед4ктоD �4тK 8 �Dе<е=8».  

�D4D4 «�6уко6ое EопDо6о6де=8е»: E87=4л 746еDHе=8O 8EпKт4=8O 6K58D4етEO 87 Eп8Eк4 E87=4ло6. 
�7<е=е=8е уDо6=O 7Dо<коEт8 оEуIеEт6лOетEO пD8 по<оI8 Mле<е=т4 пDокDутк8.  
�DоEлуH864=8е 6K5D4==о7о E87=4л4 оEуIеEт6лOетEO =464т8е< к=опк8 «&еEт». 
�D8 =464т88 к=опк8 «�4кDKтL» пDо8EEод8т 6о76D4т 6 Dе68< о68д4=8O. 
4.10.7.1 Ок=о «2» пD86еде=о =4 D8Eу=ке 30. 

 
 8Eу=ок 30 – Ок=о «2» 
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�D4D4 «�т<оEDеD=ое д46ле=8е»: ед8=8F4 87<еDе=8O 4т<оEDеD=о7о д46ле=8O 6K58D4етEO 87 
Eп8Eк4 ед8=8F (<< Dт. Eт. 8л8 к�4). �Eл8 =ео5Eод8<о Dед4кт8Dо64тL 4т<оEDеD=ое д46ле=8е, 
=464тL к=опку « ед.». 
�D4D4 «ОEт4ток»: 87<еDе=8е оEт4тк4 6K58D4етEO 87 Eп8Eк4 87<еDе=89 (46то<4т8GеEкое – 4пп4D4т 
46то<4т8GеEк8 87<еDOет оEт4ток 6 кол5е 8л8 DуG=ое – DуG=о9 66од оEт4тк4 поEле 746еDHе=8O 8E-
пKт4=8O). 
�D8 46то<4т8GеEко< 87<еDе=88 оEт4тк4 =4 д8Eплее поO68тEO MкD4=, пD86еде==K9 =4 D8Eу=ке 31. 

 
 8Eу=ок 31 – Ок=о «�7<еDе=8е оEт4тк4» 

4.10.7.2 Ок=о «3» пD86еде=о =4 D8Eу=ке 32. 

 
 8Eу=ок 32 – Ок=о «3» 

4.10.8 �4EтDо9к4 =о<еD4 Eет8 8 =о<еD4 к4=4л4 =ео5Eод8<4 толLко 6 EлуG4е 8EполL7о64=8O пDо-
7D4<<K ЛинтеЛ®-Л��К 

�лO 87<е=е=8O =о<еD4 Eет8 =464тL к=опку « ед.» EпD464 от =о<еD4 Eет8 8 66еEт8 =о6ое 7=4Gе=8е 
(допуEт8<Kе 7=4Gе=8O – от 0 до 65535) (E<. � �ЛО����� �). 

�лO 87<е=е=8O =о<еD4 к4=4л4 =464тL к=опку « ед.» EпD464 от =о<еD4 к4=4л4 8 66еEт8 =о6ое 7=4-
Gе=8е (допуEт8<Kе 7=4Gе=8O – от 1 до 12) (E<. � �ЛО����� �). 

4.10.8.1 Ок=о «4» пD86еде=о =4 D8Eу=ке 33. 

 
 8Eу=ок 33 – Ок=о «4» 
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4.10.9 Ок=о Dе7улLт4то6 д847=оEт8к8 4пп4D4т4 (=ео5Eод8<о длO опDеделе=8O 6о7<о6=KE =е8E-
пD46=оEте9 4пп4D4т4). 

�D8 =464т88 к=опк8 «�4кDKтL» пDо8EEод8т 6о76D4т 6 Dе68< о68д4=8O 

4.10.10  е68< «�=DоD<4F8O о5 4пп4D4те» 

4.10.11 � Dе68<е о68д4=8O =464тL к=опку «�е=N» 8 6K5D4тL пу=кт <е=N «�=DоD<4F8O 
о5 4пп4D4те». �4 д8Eплее поO68тEO MкD4= E 8=DоD<4F8е9 о5 4пп4D4те, пD86еде==K9 =4 D8-
Eу=ке 34. 

 
 8Eу=ок 34 – �=DоD<4F8O о5 4пп4D4те 

�D8 =464т88 к=опк8 «�4кDKтL» пDо8EEод8т 6о76D4т 6 Dе68< о68д4=8O. 

 

5 &�%��'�!КО� О�!Л'������� 

�ео5Eод8<о Eлед8тL 74 EоEтоO=8е< 4пп4D4т4, уд4лOтL пKлL 8 7DO7L. �Eл8 4пп4D4т 6 теGе=8е дл8-
телL=о7о 6Dе<е=8 =е MкEплу4т8Dо64лEO, пеDед 6клNGе=8е< тI4телL=о оE<отDетL е7о, оG8Eт8тL от 
пKл8 6л46=о9 тDOпко9 8 пDоEуH8тL. 

5.1 �опол=8телL=ое о5оDудо64=8е 8 <4теD84лK 

�еDеGе=L допол=8телL=KE <4теD84ло6 длO теE=8GеEко7о о5Eлу6864=8O пDедEт46ле= 6 т45л8Fе 10. 

&45л8F4 10 – �еDеGе=L допол=8телL=KE <4теD84ло6 

�4теD84л Кол8GеEт6о  �47=4Gе=8е 

!п8Dт Mт8ло6K9 8л8 Eп8Dто-

толуолL=4O E<еEL 

50 <л оG8Eтк4 д8EплеO, коDпуE4 4пп4D4т4 8 <еE4=8Gе-
Eк8E у7ло6 от 747DO7=е=89 !4лDетк4 EлопG4то-5у<46=4O 0,5 <2 

 4Eт6оD % О���К 6 EеD=о9 к8E-
лоте 8л8 6Eк8пOт8тL 6 6од=о< 
D4Eт6оDе п8Iе6о9 EодK 

100 <л оG8Eтк4 кол5K Э=7леD4 от =474D4 8 подEт46к8 
кол5K от оEт4тко6 пDодукт4 (пDо876од8тL толL-
ко поEле E=Oт8O подEт46к8 E 4пп4D4т4) 

&епл4O 6од4 4л пDо<K6к4 54=8 

�4Eло пD85оD=ое �О!& 1805-76 10 <л E<47к4 68=т4 E8Eте<K 87<еDе=8O о5Jе<4 

&олуол %' 210 <л пDо6еDк4 8 к4л85Dо6к4 д4тG8к4  
те<пеD4туDK п4Dо6 пDодукт4 �екE4дек4= %' 210 <л 

�8Eт8лл8Dо64==4O 6од4 210 <л пDо6еDк4 8 к4л85Dо6к4 87<еD8телO о5Jе<4 

Эт4=ол, =е <е=ее 40%  4 л 74л86к4 6 54=N поEле пDо<K6к8 

�еDеGе=L допол=8телL=о7о о5оDудо64=8O длO теE=8GеEко7о о5Eлу6864=8O пDедEт46ле= 6 т45л8-
Fе 11. 

&45л8F4 11 – �еDеGе=L допол=8телL=о7о о5оDудо64=8O 

О5оDудо64=8е �84п47о= &оG=оEтL �47=4Gе=8е  еко<е=дуе<Kе !� 

Л45оD4тоD=K9  
54Dо<етD 

 

от 610 до 790 << Dт.Eт. ±0,8 << Dт.Eт.; �Dо6еDк4 54Dо<етD8-
GеEко7о д46ле=8O 

�4Dо<етD �-67 

�еD=K9 F8л8=дD от 5 до 100 <л К&1 �Dо6еDк4 о5Jе<4 �7 ко<плект4 поEт46к8 

&еD<о<етD  от -2 до +150 °! ±0,5°! 

�Dо6еDк4 87<еD8телO 
те<пеD4туDK п4Dо6 

&еD<о<етD ASTM 7C 

от +150 до +300 °! ±1,0°! 

&еD<о<етD  от -2 до +300 °! ±1,0°! &еD<о<етD ASTM 8C 

от +300 до +400 °! ±1,5°! 
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О5оDудо64=8е �84п47о= &оG=оEтL �47=4Gе=8е  еко<е=дуе<Kе !� 

�еEK  от 0 до 2007 ±0,017 �Dо6еDк4 87<еD8телO 
о5Jе<4 

Л45оD4тоD=Kе 6еEK 
Ohaus SPX422 

5.2 �еDеGе=L опеD4F89 

�еDеGе=L опеD4F89 теE=8GеEко7о о5Eлу6864=8O пDедEт46ле= 6 т45л8Fе 12. 

&45л8F4 12 – �еDеGе=L опеD4F89  

ОпеD4F8O �у=кт �еD8од8G=оEтL 

ОG8Eтк4 д8EплеO от 747DO7=е=89 
5.3 

по <еDе =ео5Eод8<оEт8, пD8 =4л8G88  
747DO7=е=89 ОG8Eтк4 коDпуE4 от 747DO7=е=89 

�Dо<K6к4 54=8 5.4 од8= D47 6 7од 

ОG8Eтк4 кол5K Э=7леD4 от =474D4 8 подEт46к8 
кол5K от оEт4тко6 пDодукт4 

5.5 
по <еDе =ео5Eод8<оEт8, пD8 =4л8G88 
747DO7=е=89 

�Dо6еDк4 8 к4л85Dо6к4 д4тG8к4 те<пеD4туDK 
п4Dо6 пDодукт4  5.6 од8= D47 6 7од 

КоDDект8Dо6к4 пок474=89 д4тG8к4  
4т<оEDеD=о7о д46ле=8O  5.7 од8= D47 6 7од 

�Dо6еDк4 8 к4л85Dо6к4 87<еD8телO о5Jе<4  5.8 од8= D47 6 7од 

В�И�А�ИЕ 
�еDед пDо6еде=8е< теE=8GеEко7о о5Eлу6864=8O =ео5Eод8<о 6OклNG8тP 4пп4D4т, 6O=утP 
Eете6уN 68лку от Dо7етк8, кDо<е п.п. 5.6, 5.7, 5.8. 

5.3 ОG8Eтк4 д8EплеO, коDпуE4 от 747DO7=е=89 

5.3.1 �о6еDE=оEтL д8EплеO 8 коDпуE4 4пп4D4т4 оG8I4тL по <еDе 747DO7=е=8O E4лDетко9, E<оGе=-
=о9 6 Mт8ло6о< Eп8Dте.  

5.4 �Dо<K6к4 54=8 

5.4.1 �еDед пDо<K6ко9 54=8 =ео5Eод8<о Eл8тL 74л8тK9 D4=ее тепло=оE8телL 8 6K5D4тL лN5о9 
пDодукт по 7Dуппе 4. 

5.4.2 �Dо<K6к4 54=8 оEуIеEт6лOетEO путе< 74л86к8 6 54=N 4пп4D4т4 7оDOGе9 6одK E те<пеD4ту-
Dо9 от 70 до 90°! 8 74пуEк4 Dе68<4 теD<оEт4т8Dо64=8O =464т8е< к=опк8 «�4=O (6кл.)». 

5.4.3 �Dе<O пDо<K6к8 дол6=о EоEт46лOтL от 3 до 5 <8=. �о 8EтеGе=88 ук474==о7о 6Dе<е=8 Dе68< 
теD<оEт4т8Dо64=8O =ео5Eод8<о оEт4=о68тL =464т8е< к=опк8 «�4=O (6Kкл.)». !л8тL 6оду 8 
74=о6о 74л8тL =о6K9 тепло=оE8телL. 

5.5 ОG8Eтк4 кол5K 1=7леD4 от =474D4 8 подEт46к8 кол5K от оEт4тко6 пDодукт4 

5.5.1 �4л8тL D4Eт6оD % О���К 6 EеD=о9 к8Eлоте 6 кол5у 8 675олт4тL 8л8 6Eк8пOт8тL кол5у 6 6од-
=о< D4Eт6оDе п8Iе6о9 EодK 6 EDедEт64E 8=д868ду4лL=о9 74I8тK. 

5.5.2 �одEт46ку кол5K пDотеDетL D4Eт6оDо< % О���К 6 EеD=о9 к8Eлоте 6 EDедEт64E 8=д868ду-
4лL=о9 74I8тK. 

5.6 �Dо6еDк4 8 к4л85Dо6к4 д4тG8к4 те<пеD4туDK п4Dо6 пDодукт4 

5.6.1 �Dо6еDк4 8 к4л85Dо6к4 пDо876одOтEO по толуолу 8 7екE4дек4=у к64л8D8к4F88 «E.G.». 

�D8 =ео5Eод8<оEт8 до5468тL пDодуктK 6 4пп4D4т, 6 Dе68<е о68д4=8O 6 7D4Dе «�Dодукт» =464тL 
к=опку « ед.». �4те< =464тL «!о7д4тL», 66еEт8 «&олуол», =464тL «�6од». � ок=е « ед4кт8Dо64-
=8е пDодукт4», 6 7D4Dе «�етод/�Dупп4/�л7оD8т<» 6K5D4тL <етод �О!& 2177, <етод �, �л7оD8т< 
1. �6еEт8 п4D4<етDK 8EпKт4=8O длO толуол4, ук474==Kе 6 т45л8Fе 13. �464тL «�4лее». �деEL 6K-
5D4тL: «КоDDект8Dо6к4 =4 Eт4=д4Dт=ое д46ле=8е», Eоот=оHе=8е «те<пеD4туD4 ↔ от7о=», 
=464тL «�о у<олG4=8N», «!оED4=8тL». 
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&45л8F4 13 – �4D4<етDK 8EпKт4=8O 

�48<е=о64=8е п4D4<етD4 &олуол �екE4дек4= 

�етод �О!& 2177, <етод � 

�Dупп4 2 4 

�84<етD от6еDEт8O подEт46к8, << 38 50 

КоDD. =4 Eт4=д. д46ле=8е д4 

&оGк8 О&�О�, 50% 

P1: пеD64O <оI=оEтL =47Dе64телO, �т 300* 500* 

&1: пDодол68телL=оEтL пеD6о7о =47Dе64, Eек 300* 300* 

P2: 6тоD4O <оI=оEтL =47Dе64телO, �т 300* 500* 

&2: пDодол68телL=оEтL 6тоDо7о =47Dе64, Eек 60* 60* 

P3: тDетLO <оI=оEтL =47Dе64телO, �т 0 0 

&3: пDодол68телL=оEтL тDетLе7о =47Dе64, Eек 0 0 

'Dо6е=L ко=F4 к8пе=8O 2,0 

О5D47Fо6K9 теD<о<етD ASTM 7C ASTM 8C 

*- ук474==Kе 7=4Gе=8O <о7ут отл8G4тLEO от 7=4Gе=89, 66еде==KE 6 EпD46оG=8ке пDодукто6 4пп4D4т4.  еко-
<е=дуетEO 8EполL7о64тL 7=4Gе=8O 87 EпD46оG=8к4 пDодукто6. 

�4те< 6 Dе68<е о68д4=8O 6 7D4Dе «�Dодукт» =464тL к=опку « ед.». �4те< =464тL «!о7д4тL», 
66еEт8 «�екE4дек4=», =464тL «�6од». � ок=е « ед4кт8Dо64=8е пDодукт4», 6 7D4Dе «�е-
тод/�Dупп4/�л7оD8т<» 6K5D4тL <етод �О!& 2177, <етод �, �л7оD8т< 1. �6еEт8 п4D4<етDK 8EпK-
т4=8O длO 7екE4дек4=4, ук474==Kе 6 т45л8Fе 13. �464тL «�4лее». �деEL 6K5D4тL: «КоDDект8Dо6к4 
=4 Eт4=д4Dт=ое д46ле=8е», Eоот=оHе=8е «те<пеD4туD4 ↔ от7о=»; =464тL «�о у<олG4=8N», 
«!оED4=8тL». 
5.6.2 �лO опDеделе=8O 8Eт8==о9 те<пеD4туDK к8пе=8O G8EтKE 6еIеEт6, пDо6еEт8 8E 8EпKт4=8O, 

уEт4=о686 6<еEто д4тG8к4 п4Dо6 пDодукт4 о5D47Fо6K9 теD<о<етD. �D8 8EпKт4=8OE Eо7л4E=о 
тDе5о64=8O<, �О!& 2177 (<етод �) дол6=4 5KтL уEт4=о6ле=4 подEт46к4 под кол5у E д84<ет-
Dо< от6еDEт8O 50 <<. 

�4D8кE8Dо64тL пок474=8O теD<о<етD4 E уGето< попD46к8 пD8 от7о=е 50%. !коDDект8Dо64тL =4 
Eт4=д4Dт=ое 4т<оEDеD=ое д46ле=8е 8 74п8E4тL.  
�Dо6еEт8 8EпKт4=8O G8EтKE 6еIеEт6 E уEт4=о6ле==K< д4тG8ко< те<пеD4туDK п4Dо6.  
 47=оEтL пок474=89 4пп4D4т4 6 тоGке 50% 8 74п8E4==K<8 те<пеD4туD4<8 к8пе=8O =е дол6=4 пDе-
6KH4тL 1°!. 
�Eл8 откло=е=8е пDе6KH4ет 1°!, =ео5Eод8<о 6Kпол=8тL к4л85Dо6ку. 

5.6.3 �лO Mто7о 6 Dе68<е о68д4=8O =464тL «�е=N», 6K5D4тL «�Dо6еDк4 8 к4л85Dо6к4», ок=о 
«2». �4 д8Eплее ото5D478тEO MкD4=, пD86еде==K9 =4 D8Eу=ке 35. 

 
 8Eу=ок 35 – Ок=о «�Dо6еDк4 8 к4л85Dо6к4» 



ЛинтеЛ® � �!-21 ��$ 2.840.009  Э 31 

 

5.6.4 �6еEт8 6 7D4Dе «�7<еD8телL те<пеD4туDK пDодукт4» о5D47Fо6Kе 8 87<еDе==Kе 7=4Gе=8O. 
�464тL «К4л85Dо64тL». 

5.6.5 �о6тоD=о 6Kпол=8тL пDо6еDку пок474=89 4пп4D4т4 (6Kпол=OтL 8EпKт4=8O E Dтут=K< теD<о-
<етDо< =ет =ео5Eод8<оEт8). 

�D8 =464т88 к=опк8 «�4кDKтL» пDо8EEод8т 6о76D4т 6 Dе68< о68д4=8O. 

5.7 КоDDект8Dо6к4 пок474=89 д4тG8к4 4т<оEDеD=о7о д46ле=8O 

5.7.1 � 4пп4D4т 6EтDое= д4тG8к 4т<оEDеD=о7о д46ле=8O. 
5.7.2 � Dе68<е о68д4=8O =464тL «�е=N», 6K5D4тL «�Dо6еDк4 8 к4л85Dо6к4», ок=о «1». �4 д8E-

плее ото5D478тEO MкD4=, пD86еде==K9 =4 D8Eу=ке 36. 

 

 8Eу=ок 36 – Ок=о «�Dо6еDк4 8 к4л85Dо6к4» 

5.7.3 � EлуG4е отл8G8O пок474=89 4пп4D4т4 от Mт4ло==о7о 54Dо<етD4, =ео5Eод8<о EкоDDект8Dо-
64тL пок474=8O E по<оILN к=опок «-», «+». 

�D8 =464т88 к=опк8 «�4кDKтL» пDо8EEод8т 6о76D4т 6 Dе68< о68д4=8O. 
5.8 �Dо6еDк4 8 к4л85Dо6к4 87<еD8телO о5Jе<4 

5.8.1 � Dе68<е о68д4=8O =464тL к=опку «�е=N» 8 6K5D4тL пу=кт <е=N «�Dо6еDк4 8 к4л85Dо6-
к4». �4 д8Eплее поO68тEO MкD4=, пD86еде==K9 =4 D8Eу=ке 37. 

 
 8Eу=ок 37 – Ок=о «�Dо6еDк4 8 к4л85Dо6к4» 

5.8.2 �D4D4 «�7<еDе=8е о5Jе<4» - пD8 =464т88 к=опк8 «�7<еD8тL» 4пп4D4т 46то<4т8GеEк8 пDо-
6од8т 87<еDе=8е о5Jе<4 8EпKтуе<о7о пDодукт4. �лO Mто7о =ео5Eод8<о =4л8тL 6 F8л8=дD 3 
<л д8Eт8лл8Dо64==о9 6одK E тоG=оEтLN ±0,05 <л E те<пеD4туDо9 20±20!. &оG=оEтL 74л86к8 
пDо6еDOтL по пок474=8O< 6еEо6 E уGето< плот=оEт8 д8Eт8лл8Dо64==о9 6одK пD8 74д4==о9 
те<пеD4туDе. 'Eт4=о68тL F8л8=дD 6 пD8е<=8к 8 =464тL «�уEк» 6 7D4Dе «К4л85Dо6к4 3 <л». 
�оEле то7о к4к к4Dетк4 оEт4=о68тEO, 6K=утL F8л8=дD, =4л8тL 100 <л д8Eт8лл8Dо64==о9 6одK 
E тоG=оEтLN ±0,05 <л E те<пеD4туDо9 20±2°!. &оG=оEтL 74л86к8 пDо6еDOтL по пок474=8O< 6е-
Eо6 E уGето< плот=оEт8 д8Eт8лл8Dо64==о9 6одK пD8 74д4==о9 те<пеD4туDе. 'Dо6е=L <е=8E-
к4 дол6е= Eо6п4д4тL E D8Eко9. 'Eт4=о68тL F8л8=дD E 6одо9 6 пD8е<=8к 8 =464тL «�уEк» 6 
7D4Dе «К4л85Dо6к4 100 <л». 

�оEле то7о к4к к4Dетк4 оEт4=о68тEO, 6Kпол=8тL ко=тDолL=ое 87<еDе=8е о5Jе<4.  
�D8 =464т88 к=опк8 «�4кDKтL» пDо8EEод8т 6о76D4т 6 Dе68< о68д4=8O. 
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6 % ������ � & ��!�О &� О����� 

6.1 %D4=е=8е 

6.1.1 'Eло68O ED4=е=8O 4пп4D4т4 6 G4Eт8 6о7де9Eт68O кл8<4т8GеEк8E D4ктоDо6 дол6=K Eоот6ет-
Eт6о64тL 7Dуппе «Л» �О!& 15150-69. 

6.1.2 �пп4D4т дол6е= ED4=8тLEO 6 74кDKтKE от4пл864е<KE по<еIе=8OE 6 уп4ко6ке =4 Eтелл464E, 
=е под6еD74NI8EEO 685D4F8O< 8 уд4D4<. 

6.1.3 �пп4D4т дол6е= ED4=8тLEO пD8 те<пеD4туDе 6о7дуE4 от 5 °! до 40 °! 8 от=оE8телL=о9 6л46-
=оEт8 6о7дуE4 80 % пD8 +25 °!. 

6.1.4 %D4=е=8е 4пп4D4т4 5е7 уп4ко6к8 =е допуEк4етEO. 
6.1.5 !Dок ED4=е=8O 4пп4D4т4 6 лет. 
6.1.6 �пп4D4т ко=EеD68DуетEO Eо7л4E=о 64D84=ту �3-10 �О!& 9.014-78, 64D84=т уп4ко6к8 – �'-5. 

6.1.7 �Eл8 поEле D4Eп4ко6K64=8O 4пп4D4т =е пD8<е=OлEO по E6ое<у пDO<о<у =47=4Gе=8N, то ED4-
=8тL е7о =ео5Eод8<о 6 GеEле 87 пол8Mт8ле=4 �О!& 10354-82. 

6.2 &D4=EпоDт8Dо64=8е 

6.2.1 'Eло68O тD4=EпоDт8Dо64=8O 4пп4D4т4 6 G4Eт8 6о7де9Eт68O кл8<4т8GеEк8E D4ктоDо6 дол6=K 
Eоот6етEт6о64тL 7Dуппе уEло689 ED4=е=8O 5 (О�4) по �О!& 15150-69. 

6.2.2 �пп4D4т D47DеH4етEO тD4=EпоDт8Dо64тL 6Eе<8 68д4<8 тD4=EпоDт4 6 кDKтKE тD4=EпоDт=KE 
EDедEт64E (4684F8о==K< тD4=EпоDто< 6 от4пл864е<KE 7еD<ет878Dо64==KE отEек4E) =4 лN-
5ое D4EEтоO=8е. 
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� �ЛО����� �. �О�ОЛ��&�Л0��/ ��$О ��&�/ 

�.1 �4D4<етDK <еD=о7о F8л8=дD4 

&45л8F4 �1.114 – �4D4<етDK <еD=о7о F8л8=дD4 

�4D4<етD �д. 87<. �=4Gе=8е 

�<еEт8<оEтL <л 100 

�KEот4 << 242+6 

�KEот4 от д=4 до от<етк8 100 <л << 190 

+3 

 

-12 
 

&олI8=4 Eте=к8 << 1,5±0,5 

(к4л4* <л от 0 до 100 (Fе=4 деле=8O 1 <л) 
* допуEк4етEO ко<плект4F8O <еD=K< F8л8=дDо< 5е7 Hк4лK, E д6у<O то=к8<8 D8Eк4<8: 
=86=OO D8Eк4 10 <л, 6еDE=OO D8Eк4 100 <л. 

 

�.2 �4D4<етDK кол5K К �-125 (1=7леD4) по �О!& 25336-82 

 
 

�.3 �77ото68тел8 8 поEт46I8к8 теD<о<етDо6, кол5, пDо5ок 8 Eт4=д4Dт=KE о5D47Fо6 

�3.1 �77ото68телL теD<о<етDо6 Dтут=KE О�О «%��Л��О � ��О », 141600 7.Кл8=, �4п868=4 3, 
тел/D4кE (09624) 5-84-52, 2-35-48. 

�3.2 �77ото68телL кол5 �О �!К� «�еDтеE8<46то<4т8к4», 450075, 7. 'D4 пD. ОктO5DO, 149. тел. 
(347) 284-44-36 

�3.3 �оEт46I8к пDо5ок E8л8ко=о6KE E от6еDEт8е< «!8<4E», �оEк64, �4DH46Eкое HоEEе, д.125, 
EтD.1 т/D. (095) 311-22-09, 319-22-78, 781-21-58, 8л8 «Л4тоD8O» �к4теD8=5уD7 тел. (343) 246-69-06. 

�3.4 �оEт46I8к теD<о<етDо6 Dтут=KE ASTM 7C, ASTM 8C ��О "�е64Л45" 196158, 7.!4=кт-
�етеD5уD7, �оEко6Eкое HоEEе, д.46 телеDо=: (812) 336-32-00, 327-01-52 D4кE: (812) 336-32-23. 

�3.5 �оEт46I8к кол5, теD<о<етDо6 Dтут=KE 8 Mт4ло==KE пDодукто6 «К ��ОЛ» тел. (347) 292 46 92 
�4HкоDтоEт4=, 7. 'D4, �=дуEтD84лL=ое HоEEе, 112/1, 14 коDпуE, 4 Mт46. 

�3.6 �оEт46I8к Eт4=д4Dт=KE о5D47Fо6 (оD74= �!!О) ��О «�=те7DEо», 7. 'D4. &ел. 8 (3472) 50-07-46, 

8 (347) 307-1152, 8 (347)-307-1153, 8 (347)-307-1154, ЭлектDо==4O поGт4: mail@integrso.ru, 
integrso@ufanet.ru www: http://www.integrso.ru 
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� �ЛО����� �. ������� �� ���& О� 

 

�.1 �KEтDK9 66од п4D4<етDо6 

� Dе68<е под7ото6к8 к 8EпKт4=8N =4 д8Eплее ото5D464NтEO п4D4<етDK 8EпKт4=8O. Эт8 п4D4<ет-
DK <о7ут 5KтL 87<е=е=K 6 Dе68<е 5KEтDо7о 66од4: 

П9тр>6 И6а= И6а=>6<ч
 

�лO Dед4кт8Dо64=8O п4D4<етDо6, ото5D464е<KE =4 MкD4=е 6 Dе68<е под7ото6к8 к 8EпKт4=8N, 
=ео5Eод8<о =464тL =4 EтDоку 6Kп4д4NIе7о <е=N. �D8 Mто< <е=N D4EкDK64етEO: 

П9тр>6 И6а= И6а=>6<ч
П9тр>6 И6а= И6а=>6<ч
И6а=>6 %9р79= %9р7996<ч
%<8>р>6 Л96 �а6O8>6<ч
Н<>>?а96а �?9=а П9тр>6=а
%9р7996а &атPя=а Па6?>6=а

 
�Eл8 6K5D4тL =ео5Eод8<уN EтDоку 6 Eп8Eке 8 =464тL =4 =ее – п4D4<етD 5удет 87<е=е=: 

Ни>>?аева Е?е=а Петр>в=а
 

 

�.2  ед4ктоD �4тK 8 �Dе<е=8 

�лO E<е=K текуIе9 д4тK 8 6Dе<е=8 =ео5Eод8<о 6 Dе68<е под7ото6к8 к 8EпKт4=8N =464тL к=оп-

ку  8 6 откDK6Hе<EO Eп8Eке 6K5D4тL пу=кт . �D8 
Mто< откDоетEO ок=о «�� ���& / ���� �&� 1/2». � 6еDE=е9 G4Eт8 MкD4=4 D4Eполо6е= Mле<е=т 
66од4 «�4т4 8 6Dе<O»: 

 
 

�464тL =4 =ео5Eод8<уN F8DDу 6=утD8 Mле<е=т4 66од4 (=4пD8<еD, 26): 

 
! по<оILN к=опок õ 8 ö 87<е=8тL 7=4Gе=8е. �D8 =ео5Eод8<оEт8 по6тоD8тL де9Eт68O длO дDу-
78E F8DD 6=утD8 Mле<е=т4 66од4. 

�лO 74п8E8 =о6о9 д4тK 8 6Dе<е=8 =ео5Eод8<о =464тL к=опку . 

�2.1  ед4ктоD �4тK  
�лO 66од4 д4тK 6 Mле<е=т 66од4 «�4т4»: 

 
�464тL =4 =ео5Eод8<уN F8DDу 6=утD8 Mле<е=т4 66од4 (=4пD8<еD, 26): 

 
! по<оILN к=опок õ 8 ö 87<е=8тL 7=4Gе=8е. �D8 =ео5Eод8<оEт8 по6тоD8тL де9Eт68O длO дDу-
78E F8DD 6=утD8 Mле<е=т4 66од4. �=4Gе=8е 74по<8=4етEO 46то<4т8GеEк8. 
 

�.3  ед4ктоD G8Eел 

 ед4ктоD G8Eел 6K7K64етEO пD8 по<оI8 =464т8O к=опк8 , D4Eполо6е==о9 EпD464 от полO, 
подле64Iе7о Dед4кт8Dо64=8N. 



ЛинтеЛ® � �!-21 ��$ 2.840.009  Э 35 

 

�D8 =464т88 к=опк8 откDK64етEO Dед4ктоD 66од4 G8Eел 8 6 поле 66од4 ото5D464етEO 7=4Gе=8е 
текуIе7о п4D4<етD4 (E<. D8Eу=ок �3.1). 

 
 8Eу=ок �3.1 –  ед4ктоD 66од4 д4==KE 

 

Кл4684туD4 8<еет =45оD F8DDо6KE 8 =45оD EпеF84лL=KE к=опок (E<. т45л8Fу �3.1). 

&45л8F4 �3.1 

К=опк4 �е9Eт68е 

 �6од деEOт8G=о9 тоGк8 

 �7<е=е=8е 7=4к4 G8Eл4 

 
'д4ле=8е 6Eе7о G8Eл4 

 
'д4ле=8е поEлед=е9 66еде==о9 F8DDK 

 
�4кDKт8е ок=4 Dед4ктоD4 5е7 EоED4=е=8O 7=4Gе=8O 

 
�4кDKт8е ок=4 Dед4ктоD4 E EоED4=е=8е< 7=4Gе=8O 

 

� ле6о9 G4Eт8 ок=4 66од4 G8Eл4 6K6одOтEO <8=8<4лL=ое 8 <4кE8<4лL=ое допуEт8<Kе 7=4Gе=8O 
Dед4кт8Dуе<о7о п4D4<етD4. 
� EтDоке EоEтоO=8O (под к=опк4<8) 6K6од8тEO =48<е=о64=8е Dед4кт8Dуе<о7о п4D4<етD4. 
�D8 6KEоде E EоED4=е=8е< 7=4Gе=8O 66еде==ое 7=4Gе=8е 74<е=Oет 7=4Gе=8е Dед4кт8Dуе<о7о п4-
D4<етD4. 
�Eл8 66еде==ое 7=4Gе=8е 6KEод8т 74 7D4=8FK допуEт8<о7о д84п47о=4, D47д4етEO пDедупDе6д4N-
I89 76уко6о9 E87=4л. 
 

�.4  ед4ктоD текEт4 

 ед4ктоD текEт4 6K7K64етEO пD8 по<оI8 =464т8O к=опок  8л8 , 

D4Eполо6е==KE 6 ок=е Dед4ктоD4 EпD46оG=8к4. 
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�D8 =464т88 к=опк8 откDK64етEO Dед4ктоD текEт4 8 6 поле 66од4 ото5D464етEO 7=4Gе=8е текуIе7о 
п4D4<етD4 л85о пуEтое поле пD8 до546ле=88 =о6о9 74п8E8 (E<. D8Eу=ок �4.1). 

 
 8Eу=ок �4.1 –  ед4ктоD текEт4 

 

Кл4684туD4 8<еет =45оD EпеF84лL=KE к=опок (E<. т45л8Fу �4.1). 

&45л8F4 �4.1 

К=опк4 �е9Eт68е 

 
'д4ле=8е E8<6ол4 Eле64 от куDEоD4 

 
ОG8Eтк4 6Eе9 EтDок8 

 
�еDе<еIе=8е куDEоD4 6ле6о /6пD46о 

 �еDеклNGе=8е кл4684туDK 6 Dе68< 747л46=KE/EтDоG=KE 5ук6 

 �еDеклNGе=8е кл4684туDK 6 Dе68< л4т8=Eк8E/ DуEEк8E 5ук6 

 
�4кDKт8е ок=4 Dед4ктоD4 текEт4 5е7 EоED4=е=8O 7=4Gе=8O 

 �4кDKт8е ок=4 Dед4ктоD4 текEт4 E EоED4=е=8е< 7=4Gе=8O 

 

�D8 6KEоде E EоED4=е=8е< 7=4Gе=8O Dе7улLт4т 74<е=Oет 74п8EL Dед4кт8Dуе<о7о Eп8Eк4 8л8 до-
546лOет =о6уN. 
 

� EтDоке EоEтоO=8O (под к=опк4<8) 6K6од8тEO 8=DоD<4F8O, пD86еде==4O 6 т45л8Fе �4.2. 

&45л8F4 �4.2 

�4дп8EL О5о7=4Gе=8е 

 уEEк8е �K5D4= Dе68< DуEEк8E 5ук6 

Л4т8=Eк8е �K5D4= Dе68< л4т8=Eк8E 5ук6 

�47л46=Kе �K5D4= Dе68< 747л46=KE 5ук6 

!тDоG=Kе �K5D4= Dе68< EтDоG=KE 5ук6 

[�48<е=о64=8е] �48<е=о64=8е Dед4кт8Dуе<о7о полO 
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�.5  ед4кт8Dо64=8е Eп8Eк4 пDодукто6 

 ед4ктоD EпD46оG=8к4 6K7K64етEO пD8 по<оI8 =464т8O к=опк8 , D4Eполо6е==о9 EпD464 от 
Eп8Eк4 пDодукто6. 
�D8 =464т88 к=опк8 откDK64етEO ок=о Dед4ктоD4 EпD46оG=8к4 (E<. D8Eу=ок �5.1). 

 
 8Eу=ок �5.1 –  ед4ктоD EпD46оG=8к4 

 

Ок=о Dед4ктоD4 8<еет =45оD к=опок (E<. т45л8Fу �5.1). 

&45л8F4 �5.1 

К=опк4 �е9Eт68е 

 

 ед4кт8Dо64тL =4764=8е пDодукт4 

 

�еDе8<е=о64тL =4764=8е пDодукт4 

 

�у5л8Dо64тL 6K5D4==K9 пDодукт 

 

!о7д4тL =о6K9 пDодукт 

 

'д4л8тL 6K5D4==K9 пDодукт 87 EпD46оG=8к4 

 

�4кDKт8е ок=4 Dед4ктоD4  

 

�K5D4==4O 74п8EL EпD46оG=8к4 6KделOетEO 6елтK< F6ето<.  
�D8 у6ел8Gе=88 Eп8Eк4 пDодукто6, <о6ет потDе5о64тLEO пDокDут8тL Eп8Eок длO 6K5оD4 =ео5Eо-
д8<о7о пDодукт4 (E< п.п. �.7 =4 EтD4=8Fе 38).  

� 7468E8<оEт8 от 6K5D4==о7о <етод4 8 �О!&4 от=оE8< пDодукт к опDеделе==о9 7Dуппе 6 Eоот6ет-
Eт688 E т45л8Fе9 �5.2. 
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&45л8F4 �5.2 

�О!& �DуппK 

ASTM D86 1-4 

�О!& 2177, <етод � 1-4 

�О!& 2177, <етод � �, ��, &�� 

�О!& ISO 3405 1-4 

 

�.6  ед4кт8Dо64=8е Eп8Eк4 8Eпол=8теле9 

 ед4ктоD EпD46оG=8к4 6K7K64етEO пD8 по<оI8 =464т8O к=опк8 , D4Eполо6е==о9 EпD464 от 
Eп8Eк4 8Eпол=8теле9. 
�D8 =464т88 к=опк8 откDK64етEO ок=о Dед4ктоD4 EпD46оG=8к4 (E<. D8Eу=ок �6.1). 

 
 8Eу=ок �6.1 –  ед4ктоD EпD46оG=8к4 

 
Ок=о Dед4ктоD4 8<еет =45оD к=опок (E<. т45л8Fу �6.1). 

&45л8F4 �6.1 

К=опк4 �е9Eт68е 

 

�еDе8<е=о64тL 8Eпол=8телO 

 

�о5468тL =о6о7о 8Eпол=8телO 6 EпD46оG=8к 

 

'д4л8тL 6K5D4==о7о 8Eпол=8телO 87 EпD46оG=8к4 

 

�4кDKт8е ок=4 Dед4ктоD4  

�K5D4==4O 74п8EL EпD46оG=8к4 6KделOетEO 6елтK< F6ето<. 
�.7 �DокDутк4 Eп8Eко6 

� 7468E8<оEт8 от EтDуктуDK 4пп4D4т=о9 G4Eт8, пDокDутк4 <о6ет 5KтL Dе4л87о64=4 6 д6уE 64D84=-
т4E: 

1) К4к =4 пеDEо=4лL=KE ко<пLNтеD4E – пеDе<еIе=8е< 5е7у=к4 полоEK пDокDутк8.  
2) К4к =4 пл4=Hет=KE уEтDо9Eт64E – пDо6еде=8е< п4лLF4 по MкD4=у =4д Eп8Eко< 66еDE 8л8 

6=87. � т4ко< 64D84=те полоE4 пDокDутк8 =е ото5D464етEO, 4 пD8 доEт86е=88 ко=F4 Eп8Eк4 
пDо8EEод8т 4=8<4F8O текуIе7о ок=4.  
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� �ЛО����� �.  �КО�����&�� �О ��!& О�К� �� ���& О� �Л/ �Л�О �&�О� 

 

�.1  еко<е=д4F88 по =4EтDо9ке п4D4<етDо6 длO �л7оD8т<4 1 

�4D4<етDK 4л7оD8т<4 1 66одOтEO 6 ок=е п4D4<етDо6 (E<. D8Eу=ок �1.1).  
 

 
 8Eу=ок �1.1 

 

!=4G4л4 под58D4Nт <оI=оEтL P1, Gто5K "�Dе<O до =4G4л4 к8пе=8O" поп4д4ло 6 допуEт8<K9 
д84п47о=. �Dе<O T1, уEт4=46л864Nт D46=K< 300-360 Eеку=д. 

�4те< под58D4Nт <оI=оEтL P2, Gто5K "�Dе<O от =4G4л4 к8пе=8O до 5% от7о=4" поп4д4ло 6 допу-
Eт8<K9 д84п47о= (E<. D8Eу=ок �1.2). �Dе<O T2 уEт4=46л864Nт 6 д84п47о=е от 60 до 120 Eек. 
�лO пDодукто6 пеD6о9 7DуппK <оI=оEтL P3 под58D4Nт т4к8< о5D47о<, Gто5K 7=4Gе=8е "!коDоEтL 

от7о=4, <л/<8=" поп4д4ло 6 допуEт8<K9 д84п47о= (E<. D8Eу=ок �1.2). �лO пDодукто6 оEт4лL=KE 
7Dупп, <оI=оEтL P3 8 6Dе<O T3 уEт4=46л864Nт D46=K<8 =улN. 
 

  
 8Eу=ок �1.2 

 

�D8 =4EтDо9ке уEло689 D477о=к8 =ео5Eод8<о о5D4т8тL 6=8<4=8е =4 =4G4лL=уN те<пеD4туDу пDо-
дукт4 (=4G4лL=4O те<пеD4туD4 пDодукт4 =е дол6=4 отл8G4тLEO 5олее Gе< =4 1°!). 
�Eл8 6Dе<е==Kе уEло68O Eо5лNд4NтEO, =ео5Eод8<о оFе=8тL 687у4лL=о 7D4D8к EкоDоEт8 от7о=4 
длO коDDект8Dо6к8 Eоот=оHе=8O <оI=оEте9. 
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 8Eу=ок �1.3 – �D4D8к EкоDоEт8 от7о=4 

 

P2 =ео5Eод8<о у6ел8G8тL, P1 у<е=LH8тL (E<. D8Eу=ок �1.3). 

 
 8Eу=ок �1.4 – �D4D8к EкоDоEт8 от7о=4 

 

P2 =ео5Eод8<о у<е=LH8тL, P1 у6ел8G8тL (E<. D8Eу=ок �1.4). 

 
 8Eу=ок �1.5 – �D4D8к EкоDоEт8 от7о=4 

 

P2 8 P1 подо5D4=K коDDект=о (E<. D8Eу=ок �1.5). 
 

�.2  еко<е=д4F88 по =4EтDо9ке п4D4<етDо6 длO �л7оD8т<4 2 

�л7оD8т< 2 8EполL7ует пок474=8O опт8GеEко7о д4тG8к4, опDеделONIе7о те<пеD4туDу пDодукт4 6 
кол5е. О= по76олOет 5олее тоG=о 6KдеD64тL уEло68O 8EпKт4=8O "�Dе<O до =4G4л4 к8пе=8O" 8 
"�Dе<O от =4G4л4 к8пе=8O до 5% от7о=4" (E<. D8Eу=ок �2.1, �2.2). 
'Eло68е 8EпKт4=8O "�Dе<O до =4G4л4 к8пе=8O" - Dе7ул8DуетEO E по<оILN п4D4<етD4 "TN: О68-
д4е<ое 6Dе<O от =4G4л4 к8пе=8O" – 6Dе<O, 74 котоDое те<пеD4туD4 пDодукт4 6 кол5е дол6=4 до-
Eт87=утL п4D4<етD4 "tN: &е<пеD4туD4 пDодукт4 пD8 =4G4ле к8пе=8O". �Dодол68телL=оEтL пеD-
68G=о7о =47Dе64 о5KG=о EоEт46лOет 5-6 <8=ут (300-360 Eеку=д). 
�4D4<етD "tN: &е<пеD4туD4 пDодукт4 пD8 =4G4ле к8пе=8O" дол6е= Eоот6етEт6о64тL те<пеD4туDе 
=4G4л4 к8пе=8O пD8 D477о=ке пDодукт4 E по7DеH=оEтLN ±30!. ОпDеделOетEO пD8 пеD68G=о9 D47-
7о=ке пDодукт4. 
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�4D4<етD "Kp: КоMDD8F8е=т пDео5D47о64=8O <оI=оEт8 к �К" дол6е= о5еEпеG8тL уEло68е 8EпK-
т4=8O "�Dе<O от =4G4л4 к8пе=8O до 5% от7о=4". �84п47о= Dе7ул8Dо6к8 от 0,5 до 3,5 ед8=8F. 
 

 
 8Eу=ок �2.1  

 

 
 8Eу=ок �2.2  

 

�D8 =4EтDо9ке уEло689 D477о=к8 =ео5Eод8<о о5D4т8тL 6=8<4=8е =4 =4G4лL=уN те<пеD4туDу пDо-
дукт4 (=4G4лL=4O те<пеD4туD4 пDодукт4 =е дол6=4 отл8G4тLEO 5олее Gе< =4 1°!). 
�Eл8 6Dе<е==Kе уEло68O Eо5лNд4NтEO, =ео5Eод8<о оFе=8тL 687у4лL=о 7D4D8к EкоDоEт8 от7о=4 
длO коDDект8Dо6к8 Eоот=оHе=8O <оI=оEте9 (E<. D8Eу=ок �2.3). 
 

 
 8Eу=ок �2.3 – �D4D8к EкоDоEт8 от7о=4 

 

Kp =ео5Eод8<о у6ел8G8тL (E<. D8Eу=ок �2.3). 
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 8Eу=ок �2.4 – �D4D8к EкоDоEт8 от7о=4 

 

Kp =ео5Eод8<о у<е=LH8тL (E<. D8Eу=ок �2.4). 

 
 8Eу=ок �2.5 – �D4D8к EкоDоEт8 от7о=4 

 

Kp подо5D4= коDDект=о (E<. D8Eу=ок �2.5). 

 

 


